MODEL PAPER

B &TT—XI1 1

3referT=r (ECONOMICS)

qa ;3w + 15 fue (srfafEm) | [ quif® : 100
Time : 3 Hrs. + 15 Minute (Extra)] [Total Marks : 100

g =% (General Instructions) :

® i Wy arfrerd € 1 (All Questions are compulsory)
® o SR % fau ferdl @@ Wt e T @i (There is No negative marking for any wrong answer.)
® T-uF < @Wusl ¥ ¥ | (Questions are in two sections)

LIve (SECTION)-I
argfass gza (Objective)

Kot 3k (Total Marks) — 40
FHoT I ht T&AT (Total No. of Questions) — 35

®'rvs  (SECTION)-11
dr-argfass wza (Non-Objective)

Kol 3k (Total Marks) — 60
<Y AT 939 (Short Answer type) — 10 (Udh 3 3Th)
et = 9= (Long Answer type) — 05 (II® 6 37h)
4. oo < STF geE o aridier ooy oft fRu wu ¥ | o9 99 e # Suersy famedi # @ e wh wed
FIWT |

(There are internal options is some of the long answer type questions. In such questions you have to answer
any one of the alternative.)

5. FqTETd Fft YA 1 ST AT & 9w H T
(Answer should be in your own language.)

6. e & SN FHerhei Gied R ot TE 1 g WE (Fe Hierse, S TetE) S W e afid ¢ |
(No electronic gadgets like calculator, call phone, pager are allowed during exam.)

7. TGS Tl 1 IW W T 3T T AR T § IWg fohed A A W H U ¥ W W WA T |
(S % o AR SR (¢) © A Al = e U G 0 fafew W
(The answer of objective type question is to be given on supplied OMR sheet by completely darking the
appropriate answer option. For exmple if answer is (c) the you should fill it as shown by blue/black pen.

(@) (b) (@) (d)

a
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OMR ANSWER SHEET OMR 3<I UHA

OMR NO.
qi&T 2010
Instructions : TR ¢
All entries should be confined to the area provided. [eft wfeftear f&a 7 o a6 € Hifia W@

In the OMR Answer Sheet the Question Nos. progress
from top to bottom.

For marking answers, use BLACK/BLUE BALL POINT
PEN ONLY.

Mark your Roll No. Roll Code No. Name of Exam. Centre
in the boxes/space provided in the OMR Answer Sheet.
Fill in your Name, Signature, Subject, Date of Exam, in
the space provided in the OMR Answer Sheet.

Mark your Answer by darkening the CIRCLE completely,
like this.

Correct Method

®e0D

Wrong Methods

® @00
®OOO

Do not fold or make any stray marks in the OMR Answer
Sheet.

If you do not follow the instructions given above, it may be
difficult to evaluate the Answer Sheet. Any resultant loss
on the above account i.e. not following the instructions
completely shall be of the candidates only.

P w DR

OMR 3T ¥ § W99 9@ F99: TR Y 99 F iR & . B
IW o H/ATe sial wge 9 g fafed 1 |

T U o TS HIE 7o, TN = 1 9 OMR S| 75 °
fafde et/ 9w forg |

. OMR SW w3 # fFuiftq Tom W 91 9, e&aer, foua uden

w1 fEr t gfd |

. T I & R A Y ®9 9 Y H ge fafgd w

e fafy

6] JCC

g fafear

I~1Clo);
OO OO
@@

7. OMR ST 3 &I 7 G 272fa 36 R W&l-del g 7 @ |
8. T e M frdenl =1 e 7 fopw s w1 ferfa SR WA

eIk FE Hicd B | T8 H 7t &l gfie | forslt +ff v
1 & 1 SRR Hhaa ahanef g |

BIHAR SCHOOL EXAMINATION BOARD

Name (in BLOCK letters) / 9 (B & 31&R ®)

7. Roll Code/ I &ig

7. Roll Code/ i@ &ig

=

© 0o NG AN

el ol
w NP o

|
Date of Exam / 50em =1 fafy © ©® 0O © © © O ©
I o © o o ® ® O O
i ubject | @ @ @ @ @ @0 @ @
Name of the Exam Centre / &1 &= &1 A9 @ ® 6 06 ® 0 0 0
| |l @ @ @l |@ @ @ @
Full Signature of Candidate / wdanefl =1 qoi s&mar ® ® ® 6 ®© ©® 0 0O
| | ® ® ® ® ® ® ® ®
Invigilator's Signature / fiiietsh 1 gweR @@ @ @ @ @ @ @ @
| | ® ® ® O ©@ © ® O
For answering darken the circles given below / 3T & fau =9 sifeha =R &t wme X |
® ® © © u|® ® © O© Zﬁ%%%
® © ® 15 | @ © ©® 29. |® © ®
® © ® 16. | @ © ©® 30. |® © ®
® © ® 17.| @ © ©® 3. |@® © ©
® © ® 18| ® © ® 2. |® © ®
® © © 19| ® © ® 3. |® © ®
® © ® 20. | ® © ©® 4. |® © ©®
® © © 21. | ® © © 35.1. |® © ©
® © © 2. | ® © © I |® © ©
® © © 23.| ® © ® |@ © ©
® © © 24. | ® © © orl |[® © ©
® © ® 25. | ® © ® I |@ © ®©
® © O 26. | ® © @ @ © O
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10.

11.

12.

13.

14.

15.

MODEL SET (U4TSO O )-|

SECTION (=o=)—|

OBJECTIVE QUESTIONS (I =)

T 1 ¥ 34 q% fre # Ry e 9R fasedt # @ ©F & S 9 B TR W B W I I S AR
# faf=a +X

From Question No. 1to 34 there isone correctanswer. Ineach questionyou have tomark that correct optionfromthe given
options. 34x1=34

= @ €2 (Which one is true?)

(A) (GNP=SDP + fer@meR (GNP = GDP + Depreeiation) (B) NNP = GNP + forEerR (NNP = GNP + Depreciation)
(C) NNP =GN —fer&met (NNP = GNP - Depreciation) (D) (GNP =NNP —fer@mer (GNP = NNP - Depreciation)
Wale & 3Tt =1 W i wfier €2 (Which one of the following is included in flow?)

(A) 3SR (Consmption)  (B) Ta®T (Investonent)  (C) 3T (income) (D) 3w |l (All the above)
Fad 39 fog W fuifta gt € SET— (Price of commodity is determind at a point where-)

(A) I I A A4 3 alemand ex ceeds (B) =& =t gfd =1fues & Supply exceeds

(C) %] =T | IR %] F1 9] R = demand eguals supply (D) 3 ¥ #iE T None of these

>

AR 1 7= § ¥ % & fagmard €1 (Price commodity is determined at a point where :)

(A)  ae iR fahare w5t Afus wen ®) 1 THEY Rl
(C) SR Tz H gl JE E%I_?‘; [
Teieh S9N S0 § Tk A & Gaer & fou s @ wd g0 e 22 (For every market which condition has to

befulfilled for firm'segnilibrium?)

(A) AR=MC B MR=MC

(©) Me®h MR i = ¥ %1 Me should cut MR from below (D) & 3R & gM1 (both b and)

fehm IR & AR = MReia1 22 (In which market AR = MR)

(A) THIHR _ggﬁonopoly) (B) Ut wfa=ifiTar (monopolistic competition)

(C) 1 dwn « A o (both a and b) (D) gof fe=nfirn (Perfect competilion)

IRA § gig o T-H Hel AN T el Feer’ AT 1 3= (With theincreases in Prodnction the difference between
total fixed cost:)

(A) TR '@ ? f(remains constavnt B) <&dr Sirar ? (increases)

(© Fedr S ? (decreases) (D) =Fdq-dedr Edl ? (both increasce and decreases)
Ife feht a%g 1 wmd | 40% 1 9fg 3 T qfd ° shad 15% 1 9fg &1 Tt o ! 9fd grii— (Ifthe price of the
goods rises sy 40% and Supply incniases by only 15% the supply of goods will be:)

(A) eTafes @ERR (Higher elastic) (B) <==R (Elastic)
(C) wa==R (Inrlatic) (D) TYvfa: S&=R_R (Porfeetly inelastic)
ufd & fram ot f= o 9 o wer gsfefa st 22(Which of the following function Shows the laus of supply?)
(A) S=f(P) (B)S=f(1/P) (C)S=f(Q) (D) =79 ¥ &g =& None of these
Iaafa g1 o HT &I BRI %I | 22 (The basaic reason of oberating the law of diminishing return is:)
(A) A %’d’cﬂ (Scar city of factors) (B) Emeri &t qulf TG @ (Imperfect substitution)
(©) 31 3R« < (both a ardb) D) T =& (None of the above)
T 1 = bl G w1 a1l ek i @ 22 (Which of the following factor affects elasticity of demand?)
(A) % *t Ypfd (Nature of goods) (B) hiHd wR (Price level)
C)  3F &R (Income level) (D) SWrad Tt *(All the above)
FEE S Th T % 9< TA a1 S € wEarnt 8- (Goods, which can alternatively be used wer called-)
(A) gk U (Complementary goosls (B) TN KU (Substitutes)
(C) W I+ a&que (Conforts) (D) T8 I =+ 7= (none of these)
YT T TR aree faga = o 9 fees wxga fe? (Who give the cardinal concept of utiliy?)

(A) ¥rfE (marchall)
= ¥ form erefemaeen o
public and Privale Seetors is founded?)

(A) USiarEt (Capetalism (B) @amstam&t (Socialism) (C) fafera steferemen (Mixed economy) (D) ¥ =& (none)
ufte Sredeme & atwaia 71 o © fererent e1ezrem foan sman 82 (Which of the following is studied undlr macro Economincs)
(A) U= 3 (National imcome) (B) gt ISFIR (Full employment)

(C) < IR (Total Prvdnction) (D) S |+t (All the abone)

(B) @i Pisou)  (C) f&= Hicks) (D) T=erd (Samuelson)
1Tt &5 Td Hreisieh &5 <Al w1 78 e gt €2 (In which System a co-existance both
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

TYeel Y o STl fepd wIfiet ke St €2 (Which is ircluded in irdirect tax?)

(A) 3R Yook (excise dnty) (B) farsht X (Sales tax) (C) 1 3R & i (both a and b) (D) T =3 (wealth tax)
e g1 h1 foHar g & W& CRR- (Credit money is increased when CRR) :

(A) e € (Falls) (B) == ¥ ((Rises)

(C) 31 denm & Ml T (B oth and b Possible) (D) 39gE e &l (Mone of the above)

TR 1 Hid deh T | i | 82 (Which is the Central Bank in India?)

(A) T d it gfogan (Resserve Bank of India (B) Wz d& 3T e (State Bank of India)

(C) ¥z S @iw gfugan (Central Bank of India) (D) % T sfrgan (Bank of India)

foheA el g1 9 € W g% 1 % U (Money is what mony does who said it?)

(A) =Rea fagd (hartleywithors)  (B) @12 (Hawtrey) (C) o 2fad (Prif Thomas) (D) #=1 (Keynes)

TR AaUel 1 Sk i & ToIq Tq@ Wifsen S i | €2 (Which isa monetary measure to be adobted in corrcting
inflationary gap?)

(A) s < ¥ g5 (incriass in Bank Rate (B) g aeIR ® wfasfaai s= (Selling of Secerities in open market)
(C) g &W 19 W g )(ircrcase in Cash Reserve Ration (D) SWie |+ft ((all of above)

Ifg steferaeen | 31 ol Tger TR Ul ISR & &R 9 veet Feffd &1 < € a9 8 el S 8- Ifincome equilibrium
level in the economy is determined at the level befone foll employment it is knvwen as the state of

(A) = HIT & 39 (deficit demand) (B) Wi ! 3tfererr (Surplus demand)

(C)  ifersk T ST <M (Partial demand) (D) =79 ¥ & =& (None of these)

MPC =T W gl 8— (The value of MPC is:)

(A) 1(B)O (C) 0¥ a1ferk foheg 19 & (greater than 0 but lessthan 1) (D) 3= (1)

T T SIS & T W R Gfes @i § gig 89 e A fRa gfg @t 22 (Increass in aggregate damand
of equilibrium level of income and ontput causes increase in:)

(A) TSR (Employment) (B) @& (Pridnchian) (C) 3T (Income) (D) SWisd @it (All the above)

=1 ! U fagra 1 o fer@ W sk €2 (On which factor keynesion theony of fmpoyment depends?)

(A) ¥¥E qui | (Effeetine demand) (B) fd (Supply)

(C) 3carsA & (Production Efficiency) (D) =79 @ &5 & (None of these)

qataen & o Sfwia 7 o shiA W Herd "iferd 82 (Which sernice is included in lertiary Sector?)

(A) @ (Mining) (B) fsist (Constrnction) (C) ®9R (Communi cation) (D) 9[a@ (Animal hnsbandry)
frefafed (26-30) 7= ® € wer i@ T R, HUA-(A) B I FU-(R) F AW ¥ 1@ aen Ku T fasmedt
¥ ¥ wEl fawey & IW aifaswt A fafga w0

Inthe following questions (26-30) there are two Assertion. Assertion (A) follows Reasioning (R). Youhave togo through
these Reasioning and mark youanswer from the givn options.

A) A 3R Rl el € R, Al W&l T1siehat €1 (Both Aand R are true and R is the correct explenation for A.)

B A 3R R M W& T R, AhT T&1 TIIRI0T & 21 Both Aand R are true but R is not the correct explanation for A.
(©) ATE & W R €1 (Aistrue but Ris false) (D) Ao @ | REE 81 (Adis false but R is true.)
HUA —|  Gaer o8 oTaeen ¢ foed qftads w1 ygfa ur S 2

Statement —I : Equilibrium is a state in which there is a tendncy to change.

%A —I| ; Gqor o8 oraeen € ford ufteds it i ygfa 7 e s R

Statement-I1 Equilibrium is a state in which there is no tendncy to change.

FHIF | T R 3T A R I S 7 T STH AR T &SI TS 7 IR U TR g W St T S wehal
Statement—I : Direct tax isthe tax irnhich final bordn of the tax falls on the person who pays It con rot be shifted on othurs.
FHOF I ; T R IF Al W AT S 7 T TR IR W & IS Ul © IR S fR R W eren i S Hekal
Statement-Il Direct tax is the tax irnhich final bordn of the tax falls on the person who pays It con rot be shifted on othurs.
%7 el (TC) (Total cost(TC)

e —| ; 3Ed T (AC) = e T Statement —I : Average cost (AC) = out put

FHUA —I1 ; IR HI 4fd SHE NG H AGd AN Fed

Statement—Il The cost per urit of Production is known as Average cost.

O —| ; 9% difereh] T a1 Tel T AEN % WY b G W Yehe TeRAl ST @ Wi dlferehl shEedie]
Statement —I : Demand Schedule expresses recation between fris of goods and quartity Purehrsed at there prias.
FOF —I| : T AR H S taT & w9 H yafeld wR @ S @ 99 39 A 9% ed 2

Statement—I1 when demand Schedule is represcntw on a graph there it is called Dernad curve
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30.

3L

SR8

35.

HT —: TU= Y (MU) (Statement—I:TU= Y (MU)

Fo || el STANT IurT 7 fafe= Al @ g e SAfTst A e 2

Statement-II Total utility is the sum of margiral utilities obtained from different units of consumption.

Y W@ (31-34) W I g XU Mw @ g1 w yfafes w g1 o K e fasedl 9 wE-wE gfma w1

Inthe following question (31 to 34) there are two column. You have to match Column-1to Column-11 correctily.

-1 (List-1) - 11 (List-11)
Thifae =<0 (Inflationary Gap) (A) TSR (smployment)
qrE gof At (Effeetive demand) (3)] éﬁﬂ“{{,&ﬂ'{ (Banking Reform)
T wfafa (Narsemhame Corrmittee) (C) &% =T ® &t (Reduction in Bank rate)
W(Deflcetdemand) (D) WSS =g | ETn]] (Reduction in Public expcnditure)
freTifera wvd wean 35 # Ry ww 3Sgvn fan wan & weer ¥ 39 S5 i Ug kY THG a1 SHE 9k A
fRe T fF = & W& S I Y fawedw § ® faf=ma W 3x2=6

Thereisaparagraphfor question. You havetounderstandthe paragraph and thenmark youranswer fromgiven options.
TEeI—aed % AR et oeg 1 Siva fuio 9 o qen ofd o < g grar 21 A ok Susis ° gt

q I ? S I 9 @ = fa gen g € e s @ f Susiean & fon R a5g 6t |i qen 39 9% Y FEa
 foodia TRy 1 SUNI 1 T€ I Bl © TR o8 %A HiHd o %] H1 A A1 TS ol 56 fouia gfd oo
I § gty & S o 9 <@ S wed g el € e ared € R Seared o fow aeg i ufd qen owg w1 s
H dten gy {1 S RITd R SR og w1 Al I BT de1 HH HHA W IARH T& HI R Ul FH Bl qwX
B SIS 1 g FAE Bl € o 98 Sl HIAa ookt 9% h1 FH W HH W1 oW1 TH THR ST 1 SR TER
e S2vall & Wi SR | fpaeiiel g & SR SIoIR o o St shiad ol | eidt 8 Sl g i wi SR o
ofef TE H SR 7 S

According to Marshall Price of a Commodity is deter mined by other demend and sutrply curves Demand curve is
related tothe consumre and it falls dourn from lefttoright which explainsthe invrese ralation Ship between drmand of the
commaodity and its price consumer trise tto buy more at sowr price on the other hand supply curve belonge to produces
anditreisesupnarad crrm laft toright which sxpleins the direct relationship between Sutrply of the Commolityand its price
produces will place higher supplyathigher price and viceverse sothe Productr tristo sell more at higher priceandince versea
Hence two opposite forces kecome operational isthe market and the price it determeind at the point where the demand for
commaodity be comes equal to sapply of the commaodity.
. Wi o SUNeRT @ GrEfd g @ S (Demand curne is related to the consumr which)

(A) o7 ¥ T < fiwa 21 (falls dowen from left to right) (B) <& & =& S0 =it B (rises upward form left to right)

(C) & wa = S (both a and b) (D) =7 & =1g &l None of these)
Il S FITT R SARE T FT YR HEM- (Consumer tries to buy) :

(A) Y hiAd T 9% I Afees °0 (More quantity at lower price)

(B) 3fYeh himd 9 a%g ! %A AN (less quantity at higher price)

(C) =W THd W %] 1 HH WA (less quantity at lower price) (D) 37H ¥ =i =&l (none of these)
N, = HAd W SRS o T gfd Fam—(Producer will place supply at higher price)

(A) &9 (less) (B)31frer (more) (C)fd & & (will not supply) (D) 375 ® w1g =781 (None of these)

SECTION (@=o=)-—I1

NON-OBJECTIVE (fiIT—agis=s)

Y IAUA I (Short Answer Type Questions)

o kW

T WE 1 ¥ 10 q% S Hife ® 2| T ye @ fog 3 3w fauifa 2 10x 3=30
Question No. 1 to 10 carry 3marks each. These questions are of short answer type.
T IE H HEd 15% FR S § ST 66 1,000 A § T@HL 1,200 THEA @ S € | Hi e giaea fafy
B 7 R | (Dueto 15% declinein price of agood, its demand gets increase from 1,000 units to 1,200 units. Calculate the
elasticity of demand by percentage method.)

T 1 & 2 (What is money cost ?)
i T @ @1 1fg € 2 (What is meant by price discrimination ?)
3T & =ohid JaT8 & a STYRYd fHg sarsy | (State the two basic principles of circular flow of income.)
TR hAd T I[E TR IR F1 9411 3 | (Define the concept of the domestic product at market price.)
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© 0o N o

10.

affea e Yepfd o S AfAAE € 2 (What is average prospensity to same ?)

TS S HHE F 3T Bl g2 (Why does the problem of choice arise ?)

AT el § 39 @ "He § 2 (What do you understand by substitute goods ?)
a1 ot o 2 fer TR 5t O o g <

What is Investment ? Multiplier & give a formulae of Investment Multiplier.
EISESEIRCISI RS 2 2 (What is current Deposite Account ?)

st 3T 9T (Long Answer Type Questions)

11

12,
13.

14,
15.

—(SECTION (=U=)—1 : OBJECTIVE (ST WeT )—

T WA 11 ¥ 15 g% i ®ife & 21 &Sy & fau 6 e feifa 2 5% 6 =30
Question No. 11to 15 carry 6 marks each. These questionsare of long answer type.
fafema X o o erfwma & 2 fafme <3 1 g s ool 97 el i 9ui &L | (What do you mean by Exchange
Rate ? Explain the main factorswhich influencing Exchange Rates.)
oo % 9 Sevd © 2 (What are the objectives of Budget ?)
T srefeaee i fefafed SHaRt & SR W 11 fafy gra 7o 63 1 (Calculate the following from the information
of an economy:.)
(A) =g 3 (Domestic Income) (B) T 31 (National Income)
T2 (Items)
FU T (Rs. (Crores)
(0] o Rent
(i) TS Wage
(i) <M Divident
(iv) &S Interest
(v)  eifaafi@ 9 Undistributed profit
(vi) fafsa sm@ Mixed income
(vii) @ISR gReM W ST9EH Contribution in social security
(viii) ™ 3T X Corporate profit tax
(x) oo @ 35 AeE 2 Net factor income from abroad 1100
i gfeeifirar s g faewand o1 € 2 =9 Y | (What are the main features of perfect completition ?)
%o N, 3 ARG el AT onTd o a1 31ef € 2 3iiga ama den S| anTd & STraEt gy i fesl Rl g

T = F | (What are total cost, Average cost and Marginal cost ? Explain the relationship between Average cost and
Marginal cost with the help of diagram.)

ANSWERS (3<Y)

EPFPEES

1.(C) 2.(D) 3.(C) 4.(D) 5. (D)
6.(D) 7.(B) 8.(C) 9.(A) 10.(C)
11.(A) 12.(B) 13.(A) 14.(C) 15.(D)
16.(C) 17.(A) 18. (A) 19.(A) 20.(D)
21.(A) 22.(C) 23.(D) 24.(A) 25.(C)
26.(D) 27.(C) 28. (A) 29.(B) 30.(A)
31.(D) 32.(A) 33.(B) 34.(C)

35.1.(B) I1.(A) 1. (A)

or.1.(A) 1. (A) I11.(B)
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SECTION (=mo=)-—I1

NON-OBJECTIVE (FIi—aigis)

e IAUT T (Short Answer Type Questions)
1. Had ¥ o 9iedd =-15%

MxlOO} 200 100 = 22 s 100=20%
1000 ~ 1000 T100
. At o yfgea ufed®  20%

A © F ¥ v A 1%

IW : T HT A = 1.33 (A TH § ATeH)

2. Tt wH g U % % SR | oA T el 1 5 i R N hed © | O VISl W Scafd o gHEd "ie &
Tod 1 af% Gs1 o e &3 91 SRS 37 Sl & TieF it Fasti B W w3 o o wet =g Fan €, Hifsw
SN heelidl & | S Tl &0 & Ieal o, ** fendlt =r%q 1 b Tifvera wme o1 SIeA & o oy, Scare = @ierl =l <t oo
Hifgeh PTAM FET Tedl § U Hifgeh Scaed @ shed € 1

3. ®i9d s 9 ety € fore s oeg o1 fafm Susiiereti ol fafe= shiwdl © S=r1 | Chifueni o feofa & simg
a9 1 TEATET B Hehdl € | CHITUeRR Uk o%q i T sharetl s STorT-STenT idd W S Tehell € |

4. 3T 1 =1 W fetarea < fagral W enenia € ¢ (i) et ot fafma gismen sreen Scaees St &1 951 st wen
WIS A1 TS shal =1 SIS o5 Shidl € STl st R T whi TS AT fersharedl g Wi st TS AR B SR Bt
2 1 (i) ¢ we Werd feshaned | shaetl i R T fewn ¥ yarted el €, Selth 1 aqeti SR denedl & fow Hitges A
faqdia feen o sterfq shar @ fashar it 3R yanfed @i § |

5. ISR 1Al T Y5 3RS S (NDP, ) 1 ST T o H U <1 okt =] Hmst § fanfaat grr senfsa sif<m
el T T % W e W o @ feR U S9em e fen o |

T YR, SN HHd W G e ST Tk 391 1 Rl 9 & g Farfaal qen -frarfaal gr wes oren o o
Icuifed eafm oegell qen Wanel & SN Hod & SRR ¢ | 39H @ free ged s o o R

TER HHd W YE TRl SR = TR HIAd W Th SRl SR — Yoit 1 T4 a1 formmae ==

MDP, .= GDP, .- Depreciation

6. STTd T Ygfd W Teh srefcTaeen & oI ql IS & Tk U g &R R el o=d AN Fel 3T I UM € |

WIS & TR, ¢ oied T=a ygih, a=d IR S 1 SuE € 1

ww,ﬁwwng APS=%

7. STETIhATE ST 3R Hrer Hiftrd eid & | Wfird el & ook feuds Wa g % SRo1 3 el U STeifird stavahare
%aﬁa@;ﬁmmﬁwmﬁmw%sﬁwﬁmﬁwaﬁmwﬁ%|sﬂw3ﬂf9ﬁf‘eﬁww:ﬂqﬁ
I AT B |

8. T &gy o o aRqy € 1 Toh-GER o 99 Toh &1 I2¥F o T FART T S el € | e & feaw =
3R T | T aegell ® @ U g K1 G qU IO qE] I HiTd B HACHS G gl € | 1eiiq Uk 9% i hivd
& W ITh! TG o kI T &l § 1 FHd &9 S W HT kT S T |

9. %=l o STTER, ** FeRT Uk | T e € Tk v/ et et § i 1 STl A e o S gy e, e frew § enanet
gfg § K Ton stferem Bhft 1"

feoed & orgar—"'fraw & Y 7 gfg & IRomAEEy g ® €N el 9fg & U i Feer U wer S e

fraw o F1 gE-TUe i FrEfafed g g e fRAr ST HeRdn R

AY

Al
TRl K = TR Al = a9 o gftad AY = 39 ¥ qiadH
10. =Te] @ 1 ST <], SIS FEard 2 | =ie] Tl 98 @l § food st 1 7 W W =R e s gehdt # |
feh 39 @I ¥ AETIhaTaR T 9] S9d] oo i Gaen wdl 2, THieT S 39 @ 1 47 JE wH | s e g |
TE FRo1 ® o dF 0 @l W A foehd 72 30 | F-Fef 7 Yok Tek ¥ G Hl €

i o gfqer 9iedq :[

1.33
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<sf s980= 939 (Long Answer Type questions) :

11. fafma < 1 A9 -

fafma o o% T & 519 W Tk <91 T U R 3T BT R S k1 R | fafTea fomen s € | g vt H, foeht fafa
I It 7 o fordl 391 Y g1 KT TH TRE F 99 W TR 9 HY G KT R gehreal et geRdt € |

0 YR o R e g & 9 H § 9 el 9% ®iHd © S fageh g5 Y Tk TRE % a5 < Sl ¢

FER F TIER,  faf T T T 9 KT ThE GH & I<el T I F AR F e ol TohEal w1 Th Ah |

fafra 3T =t gafad & a9 &1 SR

(i) SaTR ufterd= : fadeh fafma wt @i qen g}, fafdl o st & qfeds w fsi s @ 1 afg fefa, e o
ek & df SRe g1 Bt W et © o fafrra @ e 3w & v ¥ ofefia g ® feeg Ak e, fafd @ otfus €
foRelt g1 1 | wedt © au fatma 39 % giaehel § W ¢ |

(i) ISt warg : sTeushTeli stern defehret= ISt i yare o fafra U i wefad e € 1 Ak smfte ara o faw
% foe ISt &1 wore ® o fafwa R § 9RdE T 1 6 g e aRdE T # Tied SR | qed 9g ST |

(iiil) wfrfrat 1 wa-Tawa : =i oS & 9, fadeh et o, mo-wi onfk & oF-3, faceh fafma qon
fafma =1 gufed %@ € |

(iv) S < : o ) ot Tl < 1 gafed et @ | 9K S < Bl SgEn W @ @ 3w H fakel 9 S s
FAM & 3299 W AT Hiol w79 T | 399 faseh faftma w5 gfd SR qen fafma R, faieht qu & gfoes et | §%
% HY TH 9 39 fauda yaE 92 |

(v) Fg oSt fepard : fafma aR & o2 1 frard fafma < 1 gaifaa e @ 1 afk gga, fakelt qx & gea o st
F HAS T € @ 9% Y A= TRe R < o fafe ) faselt g & wfaea qon sRep g & v ® ufEfda e

(vi) TsTfaer <o : 9 291 A Ustfsh Teerar, S o shyrel J9EE € at facelt FeeT sedr € | SuY SRe] 951 i i
et qen fafma X 39 <o & vt ¥ ufkafda g |

12. SR 992 TR & Sfteh o599 T 3@ 1 <N o T&qd il € §, T € 9ol TR i S o el o
Seedl 1 oft ST w9 R oeie % HIeAW 9 9 i wedt € |

TR a9 & A ¥ FreEfafea 2wl # Q@ #6 F T Hw T

(i) enfefer ToenT® 1 TicaTe : ooie 1 & Sevd efoqemen | anfele faenra shi TIfd ol Wieares 1 gl € | affefen
o &l g 1 & fog

() TR T H FEma It Scare fonansti 1 Wiede 98 HY Gehdl |

(W) TR Frel-Teh 57 SRl SMERYd G 9gah, T, Tel, =a, faseft o1 fmfor o gerdt € |

(1) WHR SUHHT i T . Fehell € AT |

(i) Sgfea &= faehTe : TR a9ie & AIEam ¥ Gafad & foaew il e 37 7 fIoe g & % foe =i gded
F T 7 | oo gu Wl & fawm & fau oo gR (%) 3= R g2 IIH HI S T | (W) TWHR T8 ST STR T
FLGHA T | (1) T2 &5 o MR T U 31 Tevash wasti i eyfd % o st = o gfg S gehdt €

(iii) T T wrufs w1 qAfaon ¢ steforawen o snfefe faumar o w1 | a1e Tk weequt Jfgeht far € | svefereen
o U WM Sl STHHFare i % G % fo goe gN %S S A S "ehd €, S (1) I=9 3@ Ud Gl o SAfal
Y Sl W WA T FA | () 57 o ol B F TR Y AR B | (H) I=9 S T G UG HY A SeA gt
W e TR IEEA Yok TS AR oG FwE |

(iv) enfefer feoran : :refererensi § qoil 3R W) & =k <erd wd & forg it o stefogeren o feerar wre e
off Sofe 1 SEYA Bl ® | e el TR i dsht e Wl w1 fefad w0 e e € | 9% dSl % GHE §wa ol e
T A % GHT TR HT oS S ¢

(V) USAIR 1 G : SR H1 G HET F THR & a9 1 Teh Hewqul IL9 Bl ¢ | 36 foly TRhR o1 e
™ Tkt Tgah, Ia, el o sty Fmior S8 wreiaifer Frefshal 1 gicfed it © 3iR faferse ISR srdswet i o] F stfafed
USRS IO T o1 FAE HL 2 |

(vi) QTSI SUHRHAT HT Y-y : WHR Tifers fed § amfesws = &t feofq a1 &6 & fau aesite 3uswdl &t
TG Tl € FATh T STHAT 1 Se9d o 3T 7 Elohl HIfSieh Hedro] T M 2l ¢ |

13. (31) R dF = T9GY + TE + AN + A9 + Ao o2 + Afoafia @ + Fmfes gean o $e|e + 7
o9 $h{= 8000+ 4000+ 300+ 2000+ 200+ 500+ 300

() THF o = R AF + A< § W E WEF 37 = 15600 + 1100 = 16700 FUS T

14. vof it 6t wg@ fasivand frefefe &

(i) R SR R w s e ;9 W A § S R s 5 wen Tea s w
FHR IS o forshdl TU@T sl ISR 1A hl GHIGA &1 T I | 36 TohR Yol Ffaaifitar & Tk shal 7@l T foshal i)
o | reren gfd bt geme i gwifoq el Y Wkl |
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(i) I%g H GHEY FhEA : Gf fohaei g0 SR § owqg i S WM el gehEdl T 96 el E |

(iii) waf & yaw 9 fpma w1 @aaa gl giEnd SeR A w8 o 7 e ST § gee R gendt @ 9o | of
AT FH SR Y S S Hhdl € | 39 YRR ol it  wal & SEe § o9 W i Yo e B |

(iv) SR Seme 1 quf 9 ¢ ol wEntt SR & sareti ©d fasaeti sl iR gensti w0 ol 99 e € | 39 Wi
1 At hal o%q I T HHq W 3T HEd T o] Tel TR |

TEl HR0T 2 T SR ® o 1 TH GEE FHHG G S

(v) |iEet &Y ol faeierar : qof afaafan § scaf & em o fnd sraum & e S 9 g SEn | e
o U e B A wERd R ST e € |

(vi) IE ImarE @ra &Y : ol g SR | A dr 9 S @ e SR SR | U Shibd gt @ |

15. el AN : Tohell oeq w1 ek TfY=@ A0 1 SeARA e % oY S 1 o e o i ged € S S
%1 el AN hed € | STeUhiel i el N H TR @ e gRedAeiel @it S |isfed eidt @, St et i el
T W wherel IRl @t € Siee gt ® |

Sirad oTE : SR T Ufd RIS a1 e o hed ¢ |
FHA @ (TC)
affea @ (AC) = p—

T oTTa : TRl o5 1 Tk A A1 T AT ST h1 SR i U Tl shel N H S 3= 37§, 39 W
SN hed € i erfafer st a1 sifafer omTd w1 W @ hed € |

sied ard T @H @i ® gRe 0 AC e MC Tkl % S gy g ot geeeul fag @

(i) < T UM SR T el AN §RI i Sl € |

A AN FA A H qRerd
Wﬂl‘ldzwm T AN = E—
(i)

N MC
gﬁs&AC
A
Q
O Output > X

Ry § S AC I fIRal @ 99 MC % T 91 qoh firar @ formg Tk 31oen & 91§ MC o SIgHT ST0R 81 Sl € |
Taft AC o fIRd @l § | 39 YR =t o7d orTd &t <90 § MC <d 3iigd o § %9 il € |
31afd MC <AC
(iii) S AC =JAq9 Bt 9 MC Soh AC o o1 1= T shiedl € 31eife =IAae iEd e EHr drTd & seR 8 2 |
31 MC = AC
(iv) /& AC =gdl & df MC o AC ¥ SW 2Idl 8 T W-&-91e AC 9% 9 did 7fq o oI5l 2 |
319 MC > AC
o § AC Ws MC ofshi =i Wil feran 7m 21 AC o fag A e firal & iR 39 <20 & MC &H &1 a1 2 AC ¥ |
AC & fid &t <en & MC 31ferer oSt & fikar 8 | AC & = fog | MC S8 1= @ el @ 1 A a5 § AC o1g1 31y
F T IR fog A & 9] MC 31k I @ et 2 |

Qaaa
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10.

MODEL SET (4m=9 937 )-11

SECTION (=o=)—|

OBJECTIVE QUESTIONS (I =)

Y9 1 9§ 34 q@ = 9 RE T =R fawedt @ @ T € S GE R TS W9 B Ul ST Hl ST drfeten
¥ faf=a =X

From Question No. 1 to 34 there is one correct answer. In each question you have to mark that correct option from the
given options. 34x1=34

T S AR 3 SR S UUS W1 feheeh! geaeh 82 (Whore book is the is the gereral theory of Employment
Intsent and Money? )

(A)  Slo Fo | (1. B. Say) (B)So THo fiat (J. S. Mill) (C) St THo =4 (1. M. Keynes) (D) i< Tfa=d (Joan Robbins)
Tafte sefome o o @wimfed @ - (Macro economics includes-)

(A) TSR @ fagra (Thory of employment) (B) 71 ¥wifd o1 fagr=<1 (Theory of inflation)

(C) U= e w1 &g (Theory of national income) (D) 39g= |+t (All the above)

et o fore sreferereen o shigq 45 IR FEeT o fietent s st &1 g 62 s 22 (In which economy
central prallens ars solvcd with the help of price mecharisrn and plannirs techrique?)

(A) THSER sTgfeFeE (Socialist economy) (B) fafsra s1efeemen (Mixed economy)
©) YSiardr sreferaeen (Capitalist economy) (D) 379 =g &l (None of these)
afIfeler THE Hotd: fohe a2 =1 we 82 (Econorric prohlem is basically a problm of?)

(A) USRI 9@ @t (Conrumcr's choice) (B) I =t (Chince)

(C) ¥ == =T (Firmi's choice) (D) 379 =g T2 (None of these)

[T 1 i Rl A9 R G e A iF @ 22 (Which one of the following formula is ured to measure elasticity of demand ?)
Fg7 § sTgwaw 9Read7  Proportionate chargein price 77 7 gRias Changein demand
T T STFwaE IR (Proportionetnmergeindimand )B) FmT 7 gRadT ( Chergein price )

(A)

=T qET o sygaias gRads  Proportionate chenrge in quantity demerded '
© Fe § 7 A gy Proporti onate chenge in price ) (D) T T (None)
freAifera SeeTor | wima «i= & 82 (What is the elasticity of demand in thefollowing example?)

&g #T Fid | I HI AN priceofthecommoelity | Quartity Pdemarded
5(R) 10(Q) 5(R) 10(Q)
4(R,) 15(Q,) 4(R,) 15(Q,)
A) -25 B)3 (C)35 (D) None of the alove

3afa e a9 ar] 89 %1 g8 SR A 9@ 72
Which is the main caure of the operation of Law of Diministiry Retnens?
(A) el i Hifegadr (Factors are limited) (B) WAl a1 TqUT TAMTI= €1 (Factors are imperfect)
(© ‘e’ R ‘4’ T (‘a'and ‘b both) (D) T & &g T (None of the above)
I He Wi =¥ Sl @:- (Production tunction is exprerrced as)
%‘;):' Qx=Rx (B)Qx=f(A,B,C,D (C)Qx=Dx (D) Wi gt
o | i | weE @& 82 (Which of the following statement in corrcet ?)
(A) o ! ®Hd TH $GH! 9fd & o= dien gy g € (There is direct relationship butween the pride of a
connmodity and its price.)
B) o o W T FW HI A ST @ (Supply curve moves upward from lelt to right)
©) 1 ok dcd g e € (Supply is attected by rrary tactors) (D) SWis @t (All the above)

et fet W= star @:- (The followry tigure shows:)
(A) 9fid =1 fowr (Extinrion of supply) (B) gfd =1 Heg= (Contraction in supply)
(C) dfd ¥ gfs (Increase in supply) (D) T79 =iE &1 (None of these)

Eco-[10]



11.

12,

13.

14,

15.

16.

17.

18.

19.

20.

21,

22,

23.

24.

25,

26.

=1 o i @ Siter W@t 82 (Which of the following pais is correct?)

(A) Yulma @=RR gfd Es o (Pestectly elastic supply Es o) (B)3Tfées @eRR gfd Es>1 (Itighly elastic supply Es>1)
(C) Yo s@=RR gfd Es= O (Pestectly in elastic supply Es = O) (D) 3ued |+ (All the above)

= ¥ wet sifora =T (Tick the correct one)

(A) TVC=TC-TFC (B)TC=TVC-TFC (CO)TFC=TVC+TC (D) TC=TVC xTFC
fore 9o & AR asF 3187 & FHMR &1l 22 (In which market AR curve is parallel to x axis)
(A) ol wfqEifTar (Pertect competition) (B) TR (Monopoly)

(C) IRl wfaaifiar (Moropolistic Competition) (D) 3w |+t # (All the above)

wH & Tge g9 H— (Atismis in equilibrium situ ation when )

(A) MCa% MR %! SR ¥ sed € (MC Curve cutn the MR curve tson above)

(B) MC =% MR ! "l ¥ srear & (MC Curve cutn the MR curve tson above )

(©) MC =% MR ! 9H=R 2l € (MC Curve cutn the MR curve tson above) (D)5 ¥ wiE =&l (None of these)
TR & fou F=1 & § &A@ %o 9& 82 (Which of the following statument is true to Monopoly?)

(A) ¥ wiea it €t @ (Firm is a price maker) (B) T &1k Sz0TcHsh &Tel sTell €Il € (Demand curve is of negative slope)
(C) hiwa fasig st TwraT € Wehdl & (There can be a porribility of price discrinihation) (D) ST @+t (All the above)
=1 o fopereh oTqER fordl ag 1 shiwa Wi SR ufd w1 wiferal g i it 21 (According to whom Price of any
Commodity in diturmined by the tuin foor of drmand and supply?)

(A) f&= (Hicks) (B) 9rertd (Walrus) (C) wTe (Marshall) (D) Tfs=4 (Robbins)

=R &g refeeee & W Yae W Gqor & forg Fe ° i o we @2

Which of the following is correct in the circular tlow of four sector ecmony?

(A) C+9 (B)C+9+G (C)C+9+G+(X=-M) (D) 3wda +E & (None of these)
01 HE €2 (What is correct?)

(A) GNP =GDP + fard@e (Deperciation) (B) (NNP = GNP + + femae (Deperciation)

(C)  NNP=GNP -firdmee (Deperciation) (D) GNP = NNP —ferrare (Deperciation)

T o | fre o frd wiiwfera €T fhan St 82 (Which one of the following is not included in National Income?
(A)  TETERW T (Transterpayment) (B)IRR Ud I0€ i folshl @ Wt 371 (Omourt received from the sale Ishares and bords)

(C) Tt &% W 9w 31 (Income received from ) (D) SWis @t (All the above)
APC=APS=?
(A O (B)1 (C) au( 3= 41 infinity) (D) 3wda &is & (None of the above)

Shentiehel faememy =1 o fora qeai @ emerfid €2 (Clasrical thouyht is based on which of the following tacti?)
(A) © & 9R 179 (Say's law of market) (B) &4 w1 UMK TagT (Keynes's theory f enaplryment)
(C) i w1 Wiy M (Pigou's law of wage) (D) W |t (All the above)

EIES n{lpc =0.5d (k) o 1 gRm?  (MPC is 0.5 then muttiplier (K) will be:-)

B)1 ©2 (D)0

Wﬂ%&ﬁ'& Hifd & er=fa f=1 o forg wnfier foman S 22 (Which of the following is included in fiscal Policy)
(A) Tresites =4 (Pulelic expendither)  (B) fRRRmor (Taxus)  (C) |reisiter &1 (Puflice delt) (D) 3wa Teft (All the above)
e o feh oIER qg1 ¢ € S g51 1 %@ & (According to whom Money is what manry does.)

(A) e fagd (Hartley Wilther) (B) @12 (Hawtrcy)  (C) Wo 2md (Prof. Thmas) (D) &5 (Hansen)
faf@g <t & f=1 9 %9 9 ®9 €2 (Excharye rate has which of the following fooms?)

(A) fer faftma g (Fixed excharge rate) (B) @ramut faf9a 3 (Flexible excharte rate)

©) ‘&1’ iR ‘’’ g (Botha &b) (D) 379 =g & (None of these)

frefafed (26-30) T ® € wer i@ MU R, HUA-(A) B I HUA-(R) F AW ¥ 1@ a1 Ku T fasmedt
¥ ¥ wEl fawey & IW aifaswt A fafga w0

In the following questions (26-30) there are two Assertion. Assertion (A) follows Reasioning (R). You have to go through
these Reasioning and mark you answer from the givn options.

A) A 3R RSAI WEl € R, Al WEl T1sieal €1 (Both Aand R are true and R is the correct explenation for A.)

(B) A-3IR R3H W&l & g R, AT T&l TqedieRtor & 81 Both Aand R are true but R is not the correct explanation for A.
©) ATE ? W R 81 (A istrue but R s false) (D) ATed ® | REE 81 (Adis false but R is true.)
FHYA-| : SUHT F dGd W W SHATAr w2 2

Staterrent | : Marginal utility diminishes as Conrunption increases.

FYF-11: MUnth =TU (n+ 1) TUn

Staterrent Il : MUnth=TU (n + 1) TUn
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27.

28.

29.

30.

31

FUA-| : IR e STTAl T8 IR & o Ty adr g

Staterrent | : Producion function expresses the selationship betwen inputs and output
FHoA-11 ; ehTel T STkl § SeqeA Held shi Wehfd Tk S|l el @l 2

Staterrent 11 : The nature of produection fonction docs not semain the same in short run and longrun.
- | G HIHG HIedh Bl & Sl SR shivd ardiae gt &

Staterrent I : Normal price is imaginary wherean masket price is real.

FOF-I| : % KT a1 FRor < A TS 9 Rt g g

Staterrent Il : The price of a corrmadity in ditrmered by both dumand and supply curves.
HOF-| ; 3T HT YA€ Hifgeh Yo H Fardr 2

Staterrent | : Income tlow expresses the monetary tlow.

HOA-11 ; 3@ & W9 T8 F WX & Aigdt o farel & 1 wiwfoa feran s 2
Staterrent Il : Foreign sector is included in the fous sector model of ciruler flow of income.
FOF-1 ‘Y 1 From aar @ o ufd erolt Wi g S et 2

Staterrent | : Sayi law of masket says that supply creates ets own demand

- || ; Hidfted foeR o/ & ST ER referawen § a1 Scaed T 2

Staterrent I : Accordiny to clarrical view over production is porrible in an economy.

T WE (31-34) W R g Ry} g1 B wfafe w gei-1 @ R T fawedl @ w@-we gfima

In the following question (31 to 34) there are two column. You have to match Column-1 to Column-11 correctily.

-1 (List-1) =11 (List-11)
amféie TmEn (Economic Problem) © I O (Visible itens)
e fasssd fag (Break even pint) : MR=MC (MR=MC)
SR 99 (Balance of trade) . Ter faftwa gomet (Fixed exchange rate)
Ui (gold standard) A ! ¥HE (Problen of chrice)
frnfea weT W 35ﬁﬁqq¢mﬁmw%wuﬁﬁwwﬁwwwﬁawmmaﬁ
e T W % wet s KA T fawew ® @ faf=a W 3x2=6

There is aparagraph for guestion. You have to understand the paragraph and then mark your answer from given options.
TRITYI—FAfE ST %1 T T ¥l & €9 ° 3599 fafewr srefeme S 99 &9 &t 9 & & SR

2R 3TF TATH< T2 TS H % 1936 Fo § YRIRIG B % @K g3Tll ¥ § gl AT ¥ 39 fdad &1 gy
o foF TR AfHF S FW FE & TH ¢ I% F T RGN FREH 0 ol ermar & qrer s w © faent
% T TS I FAHRT W & & H S Sl 21 g 1929 F1 HeHE SR 39 9% & a6 § <@ T R gu
AR ST emfen & 39 o Frfd ok ISR &% T H 9’ e el iR o wREH SeR U O AfHenl #l %M 9
frehret foom o o e T SRR § 1929 ¥ 1933 T SRISHIRY i 3 3 Ufawrd § aIgahs 25 Ufaerd &t Tt | 39 o1afy
% <RF W T SR W gaed frfd o e 33 wiaw w6 firmee s

Macroeconorrics as a separate branch of economics energed athr the British economist Jotn May nard kiyne
puhlinhed his ulebrated book the genural theory of Errploy ment interest and Money in 1936 The dorrinant thinking in
ecoromics before keynes was that all the labowrest who are ready to work will tind employment and all the tactories will be
worting at this full copacity This schoof of thonght is known as the clestical tradition However, the greet Depremion of
1929 and employment levely in the courtries of Eurpoe and North Amesica tall by huge amounts Demand for goodi in the
merket was low many tactories were lyivs idle wokers were thrown out of jobs. In USA form 1929 to 1933, uremployment
rore from 3 pcscrt to 25 perant Over the same pisiod aggregate output in USA letll by alout 33 peront.
I, owfie s ot T ofer T & ®9 ° wfia & w1 99 TR S 2?2

Who is given the credit of estaflishiry Macro ecoriomics as a separate branch?

(A) weH feEmeg (Adam Smith) (B) |rta (Marshell)

(C) TR a1 (Ragner Frisch) (D) %=1 (Kiynes)
Il g foem a0 % SER S S FE B TgE ¢ 3% HE e

Aecordiry to which school of Thought all thore who wist to work will get ourk.

(A) 74 yfdfeed (Neo clarrical) (B) uftiftea =1 Fenfert (Clarrical)

(C) =mgf= (Modun) (D) 9% & & (None of the above)
N, TI TF SRR ° 19299 1933 & &= ST @t ST 1 & 712

In USA betwen 1929 to 1933, the rate of unemployment becarre

(A 3% (B) 33% (C) 25% (D) Wi |t (All the above)
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SECTION (w=u=)—I1I

NON-OBJECTIVE (fIz-a=gfs=)

e IAUT T (Short Answer Type Questions)

10.

e GEA 1 ¥ 10 9 wYsTdd $ife & 21 T yv & fog 3 3w fuifa 2 10x 3=30
Question No. 1to 10 carry 3 marks each. These questions are of short answer type.
T T IR FA1aT sk T food f=fafea feafaat 1 fe@mn st g1 (Drawa production porribility curve which
showy the following situations:)
() & 1 o 3T (Full employment of resourcy) (i) STl T 3T¢9 IR (Little or len ure of sesources)
(i) GareEl @1 faw@ (growth of srsources)
Hwid IYAFTA TS et USRI St g < e |1 w@ sia fer@l| (Detine mergind utility and total utility and state
two diggerences.)
dqifetsht ¥ AT 1 <= 9@ S (Find out elasticity of demand from the following tatel)

Himd 9fd 31 (Price per unit) T T AT (Quantity demandrd)

10 2

9 25
TR TH eTHehrel bl GRHAG | 37 Sl Hrel § ST ol F 9 =¥ foan sar 82 (Detine short run and
fors run. How is production tunction specitied or expressre for two pesiodn )
forelht oreq 1 W qen fd W URERE Wqer wiHd sl gt w9 Fehdl € SR e i e
Cherte in both dumand and supply of a corrmodity may or may not affect its equilibricm price Explain

YT (or)

Ter hiHd W 0 SITAWE B2 ek @ qe diferehl §RI gHeh! wme i (What is rreant by equili bricm price? Explain
it with help of a diagsan and tafle )

vare i aikeren <1 (Detine monetary flow.)
IUYHT I <A GU et ugred gen Af<m g1ef § =R Fasul (Distinguish between intermediate psoduct and find
product ginrs a swtalle erample.)
Tod g E gHe e e 8?2 (Savings and investment are always equal Discuss.)
= o=t afereRt @ APC @2 MPC 3@ X (From the tale given below tind out APC and MPC)

A (y) Fo H SUGAT ()% H AArea ST4 Fi (%) HHiq ST gHia ()
Income (y) Rs. Consumption (c) Rs. APCL Rs MPC (Rs)
50 40 — —
100 65 — —
150 Ie) — —
Yt (Or)

of USMR Hger SR equf ISR Hqer H 9% #X (Ditfercrtiate between full enployment and undremployment
equilibrium.)
depi & fafe=1 ST @ M @ 82 What are the different deporit accounts of a bank.

e ITAT T (Long Answer Type Questions)

11
12.
13.

14,
15.

T W 11 ¥ 15 7% e #ife 3 21 vy & faw 6 e fuifa 2 5x6=230

TSR | 1 GRAT ST ST HReh! o1 SIMET S Ik YA shid 21 (Detine masket dmand state the tecton that affects it.)

woT S iR TeifeehR & o= 91T o902 sKifsry) (Distirguinh between pertect competition and moropoly.)

e T T e e @2 TE ol = =nee? (What is meant by doule courtiry? why should it be aroided?)
Y (Or)

forelt g 1 Tqer Hma w1 FUR0 &Y T ¢ AfE SOR HHG WgeH wHd 9 Afuw 7 S @ gm?

How is equilibsium price of a corrmodity diturnired what happens of the masket price is more than the equilibrium psice?

T 3T o STeher i Scare 3R &1 faferi @meia) (Explain product and income method to measure national income.

S g shi IR ST 3R $8eh Sl shi = Hitsq) (Define the trm cormircial bank and explain its funcitons.)
aaa
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10.

11

12.

13.

14,

15.

16.

17.

18.

19.

20.

MODEL SET (A4T=a 93T )-111

SECTION (=o=)—|

OBJECTIVE QUESTIONS (I =)

Y1 1 @ 34 9% = A Ry e 9r fawedt 4 @ U € I GWE 2 Y&F W & Ul IO Hl IR dlfeAen]
¥ faf=a #1

From Question No. 1 to 34 there is one correct answer. In each question you have to mark that correct option from the

given options. 34x1=34
wfte. S1efeme & Sr=id TeAE fepen ST §

(A) AfFT & H (B) AT SR T (C) =i = (D) T & =+ T
StefeaEe Y BT THE 2

(A) F1 SR Tohat AE1 § S fran S OESEERAEEIE

(C) wrerl sh ferehre Wel aAifeieh fershral sht woe (D)= @ |eft

Yol srefereeen ® eife g §

(A) Fstt Tanfire =1 (B) HATRT HHH T (C) =i =1 (D) T & =+ T

Th IS Srefeee T qEd Sevd edl €

(A) sTferepTieres Scare (B) sTifedeh Terdarar (C) qAT®T AT (D) sifersham @ieh e 1

YT &1 @7 e @
(A) Tordlt o o1 TR BT (B) Tohelt arsg o1 STARTt 81 (C) forslt o o SUHRT 61 3901 (D) STawaihal Ifd ol &aT
forelt oreq 1 Wi wenfer et ®

(A) SUAISHT T ST °§ (B) SUHIEI HT 3T 9 (C) U &t STEwThal § (D) 39° & *iE &l
forifra & § frd aw] F1 A Se B § 2

(A) e . (B) e . (OESUEEE] (D) sTeemn

HIE % Ted | g 8H & Hora®d 9 &l [

(A) s (B) =it (C) feer it (D) 1 g9ra &l e
Seafa gHa Frem & sfaila Scaed @ 9fg g ?, fRg

(A) &t gE R F (B) Trecht g X W (C)TIA R I (D) 3™ © &g &l
affq sreqenral o g Bl @

(A) Tofd: A=RR (B) qUid: SeA=_R (C) AeRR (D) SRR

T (Gossen) =1 Ugel o el S €

(A) 91 1 Fm (B) Wi & @ 1 fom  (C) THa-HiHiq sy=fiar fm (D) Hiaiq sy=ifiar g fram
forelt =g 1 Wft TohTEAl % UG @NTd W Ed ©

(A) 3Td AT (B) EraT=1 AT (C) % @ (D) ST <nTa

W T e §
(A)srl%rsem‘s—cqmamﬁ (B) s1fard @FIa § (C) %t STRA g ¥ (D) T 3ifafkad Sh1s i od &
T ¥ ®HF ‘U’ SR w1 T8 e §

(A) AFC T (B) MC 3% (C)AC & (D) AVC =k
TR &t feafa o gfaeifian

(A) 7o 2t © (B) Tt eicht @ (C) I &t ® (D) U= Bt §

qof Wi o fereht aeq o g Freifa g @ ‘

(A) Tl 9E & gr (B) T @A & §NT (C) Hiq ITAifitar & g/ (D) ®1 Ua Ufd i 3 :fomanasti g
HiT T U & " fasid & ufdaes 7 S §

(A) fmret (B) AT (C) Sag (D) U=
ISR e d 1 Hae gl €

(A) ek BEEREISE (C) Tl 7o | (D) T § = TEl

%ol T E & SAartq wiford ferar smar €

(A) I, 909 TS 3 YaE (B) I, = ae ey (C) IS faeht s (D) T § wedt
Fafte (Macro) A9 &l Tey €

(A) Fd T 3T Td IRT § (B) A 3RA Td U4 ¥ (C) /el 99d Ud fafam o (D) 378 9 9t
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21,

22,

23.

24,

25,

26.

27.

28.

29.

30.

3L
32.

V.

35.

IS ¥ 3RA (NDP) & =R 3¢aed (GDP) 9
(A) | g B w(g%mm%ﬁm% (C) SRTeR gra & (D) =1 ¥ ¥ e

‘g1 9 T S g 1w 21" frg srelemedt A e ?

(A) AT (B) 3=H (C) T (D) eret-fasd

HRI THITA 1 GH@ HRT

(A) Hifser a1 et (B) Hifser a1 o gfg (C) 3 ¥ gfg (D) frafa & afg

Roel e 3ff Sfean shi TomoAT g8

(A) 1949 | (B) 1947 # (C)1952 # (D) 1935 H

FET o H T 3T ©

%A)ET"-TSTTTTTHEFHT (B) smiffer wenforea Tenfid &1 (C) ST U6l &R & foq SR 31 (D) 778 § =eff

(26-30) ¥ B Q HuF G T B, HYA-(A) B % HYA-(R) B &F ¥ 4@ a1 K¢ T foqpeqt
¥ ¥ ugt fased &t W aifaewr ® faf=ad &3

In the following questions (26-30) there are two Assertion. Assertion (A) follows Reasioning (R). You have to go through
these Reasioning and mark you answer from the givn options.

(A) AR REA TEl € R, A% &t Trie 81 (Both Aand R are true and R is the correct explenation for A.)

(B) A3 RH W&l & Wy R, AT W&l TieRtor T €1 Both Aand R are true but R is not the correct explanation for A.
(©) AW 8 W R 21 (Aistrue but R is false)

(D) Ao & W REE €1 (Ais false but R is true.)

FIA-A  : HHid AN o U TR T Bl § |

FRO-R . Rewl A T TEH Seaed & & § @] g € |

FHUT-A | THITURR Fiainiman ool & fommo W eifdie = S € |

FNO-R  : THITHHR SR & &l 1 T gorer qon e e ¢ |

FUT-A . Tl % o6 H ARG WHN & woe § 9N Jhg g € |

FRU-R  : I9C § YA 98 W& 9 § 9 gig & St @ |

HUA-A 1 HE THI w1 I H GE w1 YR T ghg B S @ qen a%gS i R hiad 9g W € |
FRO-R ;. STEYTER IUAEKT TGS HI Y i HHT o HRU T T H gi5 8 S @ |

HOA-A . TEENE AN AR STefeeRe i Aol § HerEe 9 g € |
FRO-R  : YRA 7 GifoAd 9 T A TS F ST |
W e (31-34) W q gt Ru @ -1 wfafea | ogEi- 1§ R e faeedl @ w@-wet gfima w1

In the following question (31 to 34) there are two column. You have to match Column-1 to Column-I1 correctily.

-1 (List-1) -1 (List-11)
i fisr o1 (A) @I s ®
IYAITA 1 A (B) fafma =
? g TF W © == ds

39T T ST (D) T1 & &7 H

frenfera wve g 35 o fiu & sgaon fean 7 gEer € 39 SEOl %l g % §HR a1 Suh W% e
e T &7 v & W& S KT Y fawew ® | fafwa W 3x2=6
There is a paragraph for question. You have to understand the paragraph and then mark your answer from given options.

TENTT—FSIe 1 STefTaeel | TS ISl € | THH TR i T Teh o8 & oy o714 o =59 o1 al-sie

T € | TR TSI & BN € 39w Al A B HHS H IEGA B € | T H WEAW W WER 39 H aege | v
@mﬁaﬁnﬁ@ﬁw,ﬁrﬁﬁn,ﬂw@mﬁmaﬁumﬁﬁw%ﬂaﬁaﬁwawﬁwﬁaﬂqam%|
| oo W e ® ?

Il o 1 sfafy o gt § 2

. o0 el § ST 1 AR o § 2

Or,
frAifra geat & ww @ aifask fohey W 8 Thd 21 TR T W 9t wet fasen w SR wiern ®
sifwa #1 (In the following questions there may be more than one correct answers. You have to
mark all the correct answers.)
| frefafed o #9 @ Seya eedt deesta dreer o et T o 2
1 1990 G TRERAl I[e &1 @1&d U AT 2. &° § A 12% o1 faiq gfg dea o e
3 3% At oigd & W A IR gfg *1 e

(A) 1 3R ?2 gg)zaﬁxs (C)1 3R 3 (D) 1,2 3R 3
Il Trefofea § 9 sF @ efis T w1 i ww & 2 ‘

1. UThfdeR |ed 2. 9 e 3. gt | gt fmfo

(A) 1182 (B)2 W 3 (C)1TH 3 (D)1,2Wd 3
0. = T geemie o Frefafed o @ #F @ ao qiwfed 8 2

1. 9fd =afed o 2. HI&RAT W 3. forg g ¢

(A) 1152 (B)2 W 3 (C)1 14 3 (D)1,2Wd 3
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SECTION (=mo=)-—I1

NON-OBJECTIVE (fIi—aigis=)

e IAUT T (Short Answer Type Questions)

© © N oo g B~ w DD -

=
o

e W& 1 ¥ 10 T wYsTdd $ife & 21 T yv $ fog 3 % fuif@ 2 10x 3=30
Question No. 1to 10 carry 3 marks each. These questions are of short answer type.

=fte srefemed ¥ @19 @ THed & 2 (What do you mean by micro economics ?)

T AfATwen Hi fhl i sl FHenes &1 919 Fard 1(Name any three central problems of an economy.)

IO W 39 @ EEWe € 2 (What do you mean by utility ?)

ot w1 frEm @1 € 2 (What is law of demand ?)

=gl i st 1 =9 ST et AT AeRR 81 1 (Write the name of any three conditions whose demand is elastic.)
e &Ta 9 @79 %o wHe © 2 (What do you mean by fixed cost ?)

wuf gfqeifiar @ =1 @me € 2 (What do you mean by perfect condition ?)

eI s o diF W@ %l i =ard | (Name any three main functions of commercial bank.)

WHN aoie & fordl i 3= 1 9a | (Write any three objectives of govt. budget.)

RUGIEREGGERC| & ? (What is balance of payments ?)

e ITAT T (Long Answer Type Questions)

11.
12.
13.
14,
15.

T FE 11 ¥ 15 7 s wife & ?) wew A @ fau 6 ow fraffa R 5x6=30
Question No. 11 to 15 carry 6 marks each. These questions are of long answer type.

3T NI i STALROT st =A@ F | (Explain the concept of opportunity cost.)

T & it el ot fae=mr Y | (Explain the determinents of demand.)

o1 & fafs=r st %1 3eer@ X | (Discuss the various functions of money:.)

H1T dF % &I HE H1 Seoi@ L | (Discuss the main functions of central bank.)

T aoe Tord wed & 2 SEeh! sn-a fawioard € 2 (What is government budget ? What are its features?)

aaa

Eco-[16]



10.

11.

12.

13.

14,

MODEL SET (49 O )-1V

SECTION (=o=)—|

OBJECTIVE QUESTIONS (S gfiAss 49=z=)
Y1 1 @ 34 9% = A Ry e 9r fased 4 @ U € I R 2 Y&F W & Ul I ) IR dlfeAen]

¥ fafed ®1 (From Question No. 1 to 34 there is one correct answer. Ineach question you have to mark that correct

optionfromthegiven options.) 34x1=34
““orgeniel forere @1ef gran €, T o i = 91 22 (‘Micros’ which means “small’, belongs to)

(A) 3T (Arabian word) (B) W (Greek word) (C) =4 (German word) (D) 3Tf (English word)
IUIR SRR 1 AeAE TRan S @— (Consumer behaviour is studied in) —

(A) Y&w IRmE H, (Micro Economies) (B) =m9e 31eemE ¥ (Macro Economics)

(C) om fage # (Income Theory) (D) =79 ¥ g & (None of the above)

3Iqfd g™ | @] 81 &1 &9 &R0 % @ €2 (The basic reason of operating the law of divinishing returns is)
(A) T w1 Hiftar (Scarcity of factors) (B) 1T @l STqUl T g1 (Imperfect subsititution between factors)

(©) A3 B (Both Aand B) (D) = ¥ ®iE T
ufd % e w1 = | SE-|1 wer sfefa st 22 Which of the following funection shows the law of supply?
f

(A)S=F(P) (B)S=f (5) (C)S=f(Q) (D) =7 ¥ =i =&l (None of these)
MR W= feran STt @— (MR is shown as) —

TR ATR ATR . .
@ o ®) xq © (D) ¥H & = T
Fmd 39 fag W fuifa 2 ®, S&l (Priceofa commadity is determined at a point where—)
(A) % & AT 3Tf¥F & (Demand exceeds) (B) 3% =t Ufd a1k = (Supply exceeds)

(C) =% ! 9 wd qfd SR & (Demand equals supply) (D) 78 ¥ i =& (None of the above)

= ¥ 82 (Which one is true?)

(A) GNP=GDP+ f&@m@e (GNP = GDP + Depreciation) (B) NNP = GNP + fer@mee (NNP = GNP + Depreiation)

(C)  NNP=GNP-fe@m@e (NNP=GNP- Depreciation) (D) GNP = NNP - fo&mee (GNP = NNP - Depreciation)
e AR R IE TS IR hl Hel Sl &— (Net National Income at factor cost is called—)

(A) T 3 (National Income) (B) et f1awT (Gross investment)

(C) =R’ 3 (Domestic income) (D) T ¥ FE & (None of these)

TG 1 & 37k | fendlt &g o1 e 1 Jod ek 4§ 31 SR ofiet 3 Sgama 22 (Tiinclude the value of goods
on services more than one time while calculating National Income is called—)

(A) T&et UM (Single counting) (B) &l 79T (Double counting) (C) & T (Multiple counting) (D) %TE 7@t (None)
“ofd T i w1 ger sl 87 e A @ ferea wfawifea fHa? (Supply creates its own demand” who gave this law?)

(A) S.3F (J.B. Say) (B) st.ua.faera (J.S. Mill) (C) &= (Keynes) (D) firret (Ricardo)
Ffg MPC = 0.541 7otk (k) 8- (1f MPC = 0.5, then multiplien (k) will be) —
1
w5 (B)1 ©)2 (D)0
AR 1 H=g s 71 § = @ 22 (Which is the central Bank in India?)
(A) fisd s 3w gfean (Reserve Bank of India) (B) &2 % 31w <fean (State Bank of India)
(C) §uzd s 1w gfea (Central Bank of India) (D) % 3% gfean (Bank of India)

9 o1 fasta ad ©— (Financial year in India is.)

(A) 1 378t 9 3197 (April 1to March 31) (B) 1 SFeRI & 31 fa@wsR (January 1 to December 31)
(C) 1 s7ar ¥ 30 fqawr (October 1 to September 30) (D) 78 & &fg &1 (None of these)

a9 % Geesh T | siE €2 (Which is a component of Budget.)

(A) sIsie Wit (Budget receipts) (B) sIs12 =19 (Budget expenditure)
(C)A @R BEHI (Both Aand B) (D) =78 ¥ HE =& (None of these)
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15.

=R 99 =? (Balance of Trade = ?)
(A) v TR w1 FEfa-3va w_i 1 @M (Export of visible items-Imports of visible Item)
(B) I¥T qA IT{YA WAl 1 FATI-3TH AN 31S¥A Wl I 3T

(Export of both visible & Invisible? Hence-Import of both visible & Invisible items)
C) 39 9 T AEE-3¥F 9 1 fafa (Import of visible items-export of visible items)
(D) = &E & (None of these)

T st &t qfd ®I—(Fill in the blanks :)

16.

17.

18.

19.

20.

I 1 U S AT Fed T (3TEa Ta/Re )
Per Unit cost of Production is Renown as : (Average Cost/b. Total cost)
ot wfeEitiar SR & o Bt B (A Iraehl/wHd i)
In Perfect competition. Firms are . (a. Price Taker/b. Price maker)
Thel T I HT M0 o o7 ot Afmfea T8 foman smam (Tt /3t
In the calculatio of Gross National Product, goods are not included. (a. Inderomediary/b. Final)

ARl R TR i &1 e it e 21 CakiD)

is a compulsory payment made by individuals to the government. (a. Tax/b. Tariff)
v Frafdl 1 qed e % e @ Bl 8, @9 SAUR 39 AR B (/)
When the Value of exportsis ___ than the value of imports, the balance of trade will be surplus. (a. less/ b. more)

& AUET A I : (State true or false)
T & fag (31) @ ewma & faw (F) g4 (Write (A) for True (B) for false.)

21

22,

23.
24,

25,

26.

21.

28.

29.

v HH ST I @ S €, | ST stfshdn gt €

Whentotal utilityis maximum, Marginal utilityis zero.

fd 1 FrEm g e war © TR kA wiTdl Wi stfue g @1

The law of supply states that when price is len supply is more.

NDPFC =GNP mp- ferEree =& (NDPFC = GNP mp-Depreciation.)

e AR oI STAIG Wi § rfues 8 $9 feufa 1 seei s wed 2

When expected expenditure is more than the expected receipts, then it is known as budget deificts.

37 TSl ¥ Gl UHER & fifqek aege w1 e e frafa afmfad @@ 2

Invisible items include import and export of all types of physical goods.

frefafem (26-30) 7o ® T ®oM K@ M R, HUF-(A) F IR FA-(R) B T ¥ W@ qen Ky ¢ fawent
T ¥ wel fawew &t S aifasw ® faf=a #

Inthe following questions (26-30) there are two Assertion. Assertion (A) follows Reasioning (R). Youhave togo through
these Reasioning and mark youanswer from the givn options.

A) A 3R Rl el € R, Al Wel T1siahtt €1 (Both Aand R are true and R is the correct explenation for A.)

B A 3R R M W& T R, AhT T&1 TIIhI0T & 21 Both Aand R are true but R is not the correct explanation for A.
(€ AT & W R €1 (Aistrue but Ris false) (D) ATrerd ® W RE 21 (Ais false but R is true.)
FHA-| : S HH AT I 8 S ], 99 el SuAfTar eifushag gt /)

Statement I: When marginal utilityiszero, total utlilityis maximum.

FeH-I1 : 2 qoi "qfie 1 fag weet 2

Statemet I : This point is known as point of maximum satisfaction.

HF-| | IEA el S & WY T Scred & ifdeh AETcdsh Heel i sarn 8

Statement | : Production function explains physical quantitative relationship between factors of production & output.
HF-1|  TEd: SR Her Toh ATHI=eh 4ron B

Statement Il : Thus, production function on is an engineering concept.

FoF-1 : qfd &1 F1om 9% I € fF o O 9ue WA W, S wma st @, Sa @ ufd sifue e
Statement | : The law of supply states, that other things remaining constant, the higher the price, the greater the quantity
supplied or lower the price, the smaller the quantity supplies.

HeA-11 : ufd 1 o % 1 Fud TF SUh! 9fd @ st e HeY Rl S 2

Statement Il :Law of supply states the negative are lationship between price of the commodity & its supply.

HeF-| ; Uiaan eRR gfd w1 fefa § | g O 9 TF H Sger wiud W HE 99E 6 usd |

Statement : Increase or decrease in demand for a commaodity does not cause any change in its price.

FHUA-11 : W A0 | G §ed W gy Bl € aen " g W S gl 2l

Statement : Only the equilibrium quentity increase or decreases respectively.
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30.

31

32

35.

HA-| ; AeTaE W I H TE AN T aEqeli 9 Harell W = fhar S ®, S9 SUHNT %ed B

Statement | : In an economy, the part of income which is spend on goods & services, is known as consumption.
FHOF-11 : SUG A F Fer 2l

Statement Il : Consumption is the function of income.

T WE (31-34) W R g Ry g } g1 ) wfafe w gei-1 @ Ry T fawedl @ w@-we gfiwa )

Inthe following question (31 to 34) there are two column. You have to match Column-1to Column-11 correctily.

-1 (List-1) HeI- 11 (List-11)
GDPmp (A) R faud
Hartleywithers.
31 o€ € S g5 R (B) T 39 I T W & WY Tk Tfved ety
(Money is what money does) ford T smftier w37 1 foeRm

The statement of economic transaction in a certain period

between one & the other country.
31fata a=te (Sumplus Budget) (C) TUTH ad & I H W H H Icqfeq A<H

gl TE HansTl 1 o

The value of all the final goods & services produced

within the dometic territom of a country.
T 3 Balance of Payments (D) TIHR F STAMT 3T > WHR Hi AT =

Expected income of govt.>Expected expenditure ofgovt.
frenfera v W 35 # fiu & sgewr faan w0 ¥ geer € 3@ SgUl %l Ug Y §HE 9o SUh 9% e
R g I w1 & Wl S A ¢ fawewt ® ® faf=a 3x2=6
Thereisaparagraphfor question. You havetounderstandthe paragraph and thenmark youranswer fromgiven options.

TET—h=19 S 291 1 Galred Seh 2| 78 3= Gft dohl TR 0701 Teran €1 goeh1 W@ Segd Tzl | Sifeh T qomed!

1 HETeH HE ¢ U Se9d o9 HAM & Bl G iRl § 12 S S € dfehd o= weft <ol ¥ wh-uw
F5 Ak T TN BT S W RN H W el 21 T€ WHR & St & &Y § THR F1 3K T -39 el 7
70 1 i 6 %1 THITUeR g 2l
Central Bank is theapex bank in the countrywhich. Controls all other banks. Its main objective isto operate banking system
innational interest. It does not work with the objetive ofearning profit. Leaving USA (where 12 central banksare working),
everycountryhasonlyone central bank. Itis subordinate tothe government. Itisabanker to the governmet. Ifhas monopoly
right to note-issue.

] o T et o ferad = s €2 (How many central banks are true in USA ?)

(A) 10 (B)12 (C)14 (D)15
. =g S W e @i g 82 (Who is the owners of central bank?)
(A) Sar ST (Public) (B) 9¥h1 1 (Government)
(C) wgaa WszH™ & (United Nations) (D) T ¥ FiE & (None of these)

Nl =g s 1 q&d 329 941 €2 (What is the main objetive of central Bank?)
(A) <9 S (To earn profit) (B) W& F0T 3UeTsd &AM (To avail public loon)
©) eefed o SferT womelt =1 =@M (Operation of banking system for national interest)
(D) Swd= |+t (All of the above)

Or,
freifera 7o o @ @ srfus famed Wt B wwha R R wwl ¥ gt wEt fasedt @t SwR e o
sifwa =
In the following questions there may be more than one correct answers. You have to mark all the
correct answers.
I. = & M @ S & 22 (Which per of the following is true?)
(A) guiden TERR qfd- es = 00 (Perfectly elastic supply-es = 00)
(B) ifer ERR qfd- es> 1 (Relatively elastic supply-es x 1)
(C) sifyer dd=RR Yfd-es = 0 (Relatively inelastic supply es = 0)
(D) TE @RR gfd- es < 1 (Unit elastic supply es < 1)
Il w6 o a9 e § 9 fee faf @ fman Sir 82 Which of the following methods are used for measuring elasticity of demand?
(A) =94 Gfa (Total expenditure method) (B) afaera = stguifaes Afd (Percentage orproportionute method)
(C) = =13 §fd (Total income method) (D) 3¥Herd dfd (Decimal method)
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. gof wfEnht SR % fog fet & % @ wed e 22

Which of the following statements are true for perfectly competitive market.

(A) rma fefer Gien § gfd 1 wifsd g e 81 (Price is determined by the forces of demand & supply)
(B) %] ! SiHa o1 FeRoT $@M gR e ?1 (The price of the commodity is determined by the industry.)
(C) SEN 1 Y FH Hiud Wedehal g g1 (Every firm of the industry is price taker.)

(D) To® U foshal T 1&&A %l B 21 (There is only one seller & large number of begers)

SECTION (=o=)-—I1

NON-OBJECTIVE (AIT-a=gis=)

e IAUT T (Short Answer Type Questions)

oD

8.

9.

10.

e GET 1 | 10 g ST HifE B 2| YA Y¥A & fag 3 3w frEifa 21 10x3=30
Question No. 1to 10 carry 3 marks each. These questions are of shortanswer type.
TIfefeh TR qord: A ki GHE 21%d? (Economic problem is bascally a problem of choice. How?)
Hin & frEm @ @ fawE 22 (What is meant by Law of demand?)
IR e & fohegl o fagiwarsti 1 avf7 %Y1 (Explain any three charactasistics of production function.)
qfd =%k @ifaw s gfd @=—(Draw supply curve when elasticity of supply is )
(i) ST & IR & (Vuitary eleastic)
(ii) 3TE ¥ &H &1 (Lessthan Uxitary elastic)
(iii) ST © =1fr &1 (More than Uxitary elastic)
e oTa T HE o § s e 22 (What is the relation between Average cost & marginal cost.)
Hehel T SAIE (GDP) Td Tahel T IR (GNP) H fohgl o 1=l o1 avia il
State any three differences between Gross Domestic Product (GDP) and Gross National Product (GNP)
e Wi Y ®Ed 82 (What is aggregate demand?)
Or, (19ra)
Ff stfafier femT 100 S To TN MPC = % 81 di stefeawen # forat s1fafie s &1 goi grm?
How much additional income will be generated in the economy if additional investment is Rs. 100 crores with MPC = %5,
eI okl % ST=ia s U U sifufashd ® @ SR 72
What is the difference between cash credit & overdraft under commercial Bankes ?
Tefera ssie @M €2 (What is balanced budget ?)
IR 99 TS P 99 F F1 AR 22 (Differentiate between balance of trade & balance of payments.)

= ITAT T (Long Answer Type Questions)

11
12.
13.

14,

15.

T WA 11 ¥ 15 7% e #ife 3 21 vy & faw 6 e fuifa 2 5x 6 =30
Question No. 11to 15 carry 6 marks each. These questionsare of long answer type.
T 1 A o= o B2 38eh o= Wenrl w1 =3 Y1 (What is price elasticity of demand? Explain its Various types.)
e oTa & 22 3fiHa oTa =k U ST o1 i g 82 (What is Average cost? Why Average cost curve is U shaped.)
wof gfeEifrar & & Siud grasl €, sigd fuies @) s w0 (Inperfect competition, firm isa price taker, nota
price maker. explain.)

Or, (19ra)
eI 1 €2 39 farsroansti st aof si1 (What is monopoly? What are its charactristics ? Explain.)
TS Ao 1 &2 36 Ao o1 TRt wen fafyr et a0 Y2 (What is national income? Explain any one method of measuring
national income.
et ot 9 B2 Uik Ud A SN wgfa 9 Hey 22 (What is Investment multipliero? What is the relation
between multiplier and marginal propensityto consume (MPC).

Or, (31erEt)
afferes @i @ B2 39 o g wefefa 1 (What is excess demand? Explain it with diagram.)

aaa
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10.

11

12,

MODEL SET (4T 9d O )-V

SECTION (=o=)—|

OBJECTIVE QUESTIONS (I =)

Y1 1 @ 34 9% f # Ry e 9r fawedt 9 @ U € I GWE 2 Y&F W & Ul IO Il IR dlfeAen]
¥ faf=a #1

From Question No. 1 to 34 there is one correct answer. In each question you have to mark that correct option from the

given options. 34x1=34
ki Hifq & erarta = o ferd wnteer o= St 2 (Which in following include under fiscal policy?)

(A) gESiteR =1 (Public Expenditure) (B) SR (Taxasion)

(C) wresitTen 9T (Public debt) (D) 3w |+t (Above all)

T8 TR 1 FRgel & Tod ° w1 81 | Wi § gfg & st? (Which kind of commodities's price decrease then demand

does not increase?)

(A)  eifer a=qd (Essential commodities) (B) 3TRM=ES U (Comfortable Commodities)

©) faonfaar s=qd (Luxrious Commodities) (D) =7 ¥ ®E =& (None of these)

firfer qetl @ forw swiwa Wi &t &=? (Price demand's elasticity for Giffin Commodities ?)

(A) ®UTH® (Negative)  (B) &HTcH (Positive) (C) 3= (Zero) (D) 399 ¥ ®E &l (None
of these)

e o fore wima ficor wfswen o wo@ aed =1 fa=m f&an 8— (Which of the following gave concept of time factor in
price determination process?)

(A) f@ret (Ricardo) (B) aeR@ (Walras) (C) et (Marshall) (D)t & ®ear (Marshall J.K. Mehta)
frrefafed vore &3 o 9 ford o0 § TR 1 21fes Totea &1 it erdt 82 (In the following direct taxes from which
tax government receive more revenue.)

(A) 7™ #T (Municipalitytax) (B) 3T &2 (Incometax) (C) &1 &< (Wealth tax) (D) a1 &Y (Forest tax)
et & & =i o weaer s 82 (Which in following direct tax?)

(A) Tar #X (Service tax) (B) 3d4EH ek (Producton fee) (C) 3 T (Incometax) (D) frsht shX (Sales tax)
9qd w1 it o 82 (Indian's financial year is)

(A) 1 SHerdt @ 31 fe@ma (From 1 January to 31 December)  (B) 139 & 31 (From 1 April to 31 March)

(C) 1 %€ ¥ 30 314 (From 1 May to 30 April) (D) 19 & 28 ®¥adt (From 1 to 28 February)
30 378t 2003 | gl s < & (From 30 April 2003 effective Bank ratein)
(A) 7.5 9w (7.5%) (B) 6 HfeTa (6%) (C) 8 ufreTa (8%) (D) 8.5 9ferd (8.5%)

eIk & o SIfUeh Sl shi Helife e e T o 272
In which state maximum braches of commercial banks of public sector
(A) W YR (Uttar Pradesh) (B) #eRTse (Maharashtra) (C) TR (Guijrat) (D) FAe® (Karnatka)

AR o1 T 319§ Freferfad o 9 fore &5 &1 9a® %9 9reE 82 (Which following field's minimum coperation in
national income of India ?)

(A) Wt (Primary) (B) federer (Secondary) (C) geft@sk (Third) (D) =i st 9 & € (Equal coperation of three)
T 31 1 Ao ferg fafy @ feman St 22 (What is the process of masurment of national income?)

(A) Ik fafa (Production process) (B) 31 faf4r (Income process)
(C) = fafy (Expenditure process) (D) =79 & @t (Above all)
Wi & araia =1 ® s wfe 2 (Which in following include under stock)

(A) H=1 1 9fETg (Measurement of money) (B) & (Wealth)

(© Tiem H W g (Wheat stored in godown) (D) =79 & @t (Above all)
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13.

14,

15.

16.

17.

18.

19.

20.

21

22,

23.

24.

25,

26.

A | Il YT 9RR SR shi @e fhaet 22 (How many recognised share market in India ?)

(A) 19 (B)20 ©)21 D) 22

ford S% @irE gfean &1 TR Hd g2 (When the reserve bank of India was nationalised ?)

(A) 1959 (B) 1947 (C) 1945 (D) 1949

T o <91 o fera To9 fom T (SFCs) ®mia €2 (How many states finance commission (SFCs) in the country are
present ?)

(A) 18 (B)22 (©)20 (D)28

AT & S = 82 (Who in the father of Economics )

(A) SLELE (J.B. Say) (B) Hreerd (Malthus) (C) TeH fmer (Adam Smith) (D) it Afa=8= (John Robinson)

31 %1 % 8— (The function of money in)—

(A) faftma =1 "reEm (Medium of exchange) (B) 9 <1 HIYh (easurement of price)

(C) ¥<a =1 "= (Deposit of price) (D) 3T @t (Above All)

T i T S W Haiitueh ANEE e & %182 (Which following field's maximum coperation in national income
of India?)

(A) =% (Agriculture) (B) faf=iur (Construction) (C) &MIR (Trade) (D) Hamd (Services)
fova-=amdt wat fr=1 & 9 foha = g€ o2 (In which following year was world-wide inflation?)

(A) 1929 (B) 1928 (C)1930 (D) 2009

I e 1 Hee = | | fREd 22 (In which following associate with production function ?)

(A) =Wa ¥ (From price) (B) 3wafa & =meAi & (From factors of production)
(C) wmEA ¥ (From Production) (D) =99 ¥ & =&l (None of these)

=1 & 9 % ¢S =@ 2 (Which is following capital expenditure ?)

(A) U= @ T (Payment of Pension) (B) ¥ &t BRI (Purchasing of shares)

(C) 3fefek ST9gM (Economic aids) (D) 3™ @ &g & (None of these)

T o= "9 1 Afaai €= (Measurement of price elasticity in —)

(A) = =99 Gfd (Total out lay method) (B) fa=g @ifa (Point Method)

() =ma dfa (Arc Method) (D) 3w @t (Above all)

IS Yok 2 (Prdouction fee is) —

(A) TII& X (Direct tax) (B) 31978 X (Indirect tax)

(C) efafad #X (Additional tax) (D) =™ ¥ &g &l (None of these)

#7910k agid o ferae ot Gey Tty s 82 (Which in following establish relation between Keynesian
multiplier theory?)

(A) f1aeT qen 3T & = (Between investment & income)  (B) 3T e 39NN & = (Between income & consume)
(C) s=rd wd f7erwt & &= (Between saving & investment) (D) 379 1§ &1 (None of these)

ek (K) seR &—( Multiplier (K) equal)

(A) k=i—? (B)k=AA—T (C) k=1-5 (D) 379 =g =& (None of these)

frefafed (26-30) T ® € wer i@ T R, HUA-(A) B 9 HUA-(R) F AW /@ 1@ aen Ky T fasmedt
¥ ¥ uel fasew &t SR aifesr | fafza &1

In the following questions (26-30) there are two Assertion. Assertion (A) follows Reasioning (R). You have to go through
these Reasioning and mark you answer from the givn options.

A) A 3R Rl el € R, Al WEl T1siehat €1 (Both Aand R are true and R is the correct explenation for A.)

B A 3R R M W& T R, AhT T&1 TR0 & 21 Both Aand R are true but R is not the correct explanation for A.
(©) ATE ? W R 81 (A istrue but R s false) (D) ATed ® | REE 81 (Adis false but R is true.)

FoH-1 : G SR I B W HA SR AR et 2|
Statement I: If marginal production in zero then total production will be maximum.
HA-|| : el SR AqH qel Bl 7, ST G Seas I Bl 2

Statemet 11 : Total production is minimum then marginal production will zero.
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21.

28.

29.

30.

31

32

g8

HUF-|  TARSE T FoIEl Y Bl B

Statement I: Entertainment tax is direct tax.

FOF-11 : TARSH F THAL H Al

Statemet Il : Entertainment tax in indirect tax.

FHUA-| : HEH (Micro) Teh w1s3 Higehist @ ferar T 2

Statement I: Greek word Micro has taken from Micros.

HeF-1| : HEH! ST I8 WighS § e W 2

Statemet Il : German word Micro has taken from Microge.

FHYA-| : AL % S & €9 § 1A 1 51 g2
Statement I: Economics came into life by the founder of economics.
HoA-1| ; NI & S & &Y § TSHAAL HI SN Sl 2|
Statemet Il : Adam smith in known as the father of economics.
%Y-1: MUnth = Tun.1 (Statement I: Munth =T Un.1)

FYA-11: Munth =TUn —Tun.1 (Statemet Il : Munth=TUn -TUn.1)
T WE (31-34) W R g Ry} g1 B wfafed w gei-1 @ Ry T fawedl @ w@-we gfima )

In the following question (31 to 34) there are two column. You have to match Column-1 to Column-11 correctily.

-1 (List-1) =11 (List-11)
ST & SR (A) T g1 &I g H @Rl g5 & qod &I A
Founder of economics In the comparison of other currency country currency decreases
wen oy gr fafed gwas &1 am (B) et §=T H
Name of the book written by Adam smith In concurrent list
amfeler first fo@ € Economic planning subject is (C) T f&er Adam smith
eI Te5 T 1 © (D) T & o % TWHE Al HION HT Tl
Meaning of Devaluation word An enquiry in to the nature and causes of wealth of nasions
frenifera v W' 35 o fiu & sgewn femn o 7 wEer € 39 SEOl %l g % §HR a1 SUh 9% A
e g W % wet s K T fawew ® @ faf=a W 3x2=6

There is a paragraph for question. You have to understand the paragraph and then mark your answer from given options.
T STEvTshdd STHifHd el 2 3iR 32 ggfie difa e 2 Siffra gl o srfifia strevasharstt 6t g=fte
T U | W STewahar T Wi Qe & ued UReR SR sTeieeen Sl W | e 1 Tk INeR &1 o1 it
Bt ], SEfeh STRT Tavashand SrEifd it €, steid U uRaR oo Wifgd ot o St geft stravashaeti # gqe
& T Tohdll T YRR Tk Sreferrawen & qrg oft wed Hif g € SR wneEl st gl diffraan & u steloraeen & forg
T Ha &l B Tk a7 o9 Tl ARl bt Aot stavasRarsti i Ufd % faw yeieh SR S X AN H SR & Hahl
37d: Hiffra TreAl 1 STfd STavaeRdretl & HICTH GHENH S i GHE I eidt 81 e1effd STavashdrsti st qor
H Qe T A € TAR W 36 99 S 9 < €, R 7 T -2 savaskarett w qfd & faw -2y
w1 fera-2 W W WA ) 36 T gE T el B
Human wants is unlimited and their satisfaction is limited. It is a problem to satisfy the unlimited wants from limited sources.
Limited wants and factor of limited sources are applied on both family & economy. Income of one family is limited but his
wants are unlimited. As one family cannot satisfy his every wants by his limited income. In this way a economy has limit
sources & sources of this limitation it is not possible.For a eonomy to satisfy the wants of every citizens. It creates problem

of best assumption for limited sources of unlimited wants. But in the comparison of wants limitation of sources give birth
to this problem before us that how much quantity and in what sources we should apply and fullfill our wants. For this we

have to choose.

. TFEE SEvEshand et €— (Human wants in—)
(A) Hifaa smavFshand (Limited wants) (B) e7Hifa emmawaeRad (Unlimited wants)
© A3k BT (Both A& B) (D) =T ¥ & T (None of these)
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Il enfefer T Sea=1 et 8— (Economic problem arises—)
(A) wifHa 3T M W (Limited Income) (B) 3TEifHa & M W (Unlimited Income)
©) As3IR BT (Both A& B) (D) =8 & HE =&l (None of these)
NI §f sTaeFeRarstl &1 9gfe ®e & faw  (To fullfill every wants)
(A) =T 3rdifd g =feT (Income should be unlimited) (B) 2™ Hifya 2t =ifew! (Income should be limited)
(© =9 ¥ ®E T& (None of these) (D) A3iR BTHI (A&B both)

SECTION (=mo=)-—I1

NON-OBJECTIVE (fAIz-a=gfrs=)

e IAUT T (Short Answer Type Questions)

W N e

© © N o g &~

10.

e GEd 1 ¥ 10 o wysTdd $ife & 21 T yv $ fog 3 % fuifa 2 10x 3=30

Question No. 1to 10 carry 3 marks each. These questions are of short answer type.

=fte srefyme SR wwfte stefvmen W 9 w1 (Differentiase between Micro economics & Micro economics.)
YN Hed St A L (Explain the consumption function.)

Gelfea =% ! HAd § URede 1 a%] H1 Wi W 1 996 9gal 22 (What is the effect on demand due to change in
price of concerned commaodity ?)

I 1 W= ! A9 1 S Tt @1 €2 (What is percentage method of measurement of elasticity of demand?)
deh X e oS 5 H 3= ward| (Differentiase between bank rate & interest rate.)

5T % WO ! %1 sard| (Explain the main function of money.)

firftpe fertiensma == €2 Tw=md) (What is Giffin Paradox? Explain.)

Hferd R sTg-gfera asie # 9% #? (Differentiate between balanced & non-balanced budget.)

TTAE U9 & =g @l T gl @l § 3T Tami? (Differentiase between current accounts & apital account.)
TSR 1 Fq@ fagioand <ard| (Explain the main charecteristic of market.)

e ITAT T (Long Answer Type Questions)

11

12.
13.
14,

15.

T WEA 11 ® 15 T ST HifE & 2| YE ¥ @ faw 6 ofw fwifa R 5x 6 =30
Question No. 11 to 15 carry 6 marks each. These questions are of long answer type.

gu-iar SYAfTar fem @ saren Fifs) gl wifse 6 T frem anfeis Siam & fafv= &= & frg yer arp g
22 (Explain the law of equi-marginal utility. Describe hour this law applies to different spheres of economic life ?)
Tg1-u<1ed & U 19U L2 (Describe the qualities of a good money material. )

TR R B2 THe! @ fagrarsti %1 9ufa %Y1 (What is Monopoly? Describe his main charecterstics.)

e 1 o e @ 3y o THE €2 e faeht o ferq wiem ot wfefieh s W sE9 s werE ferdt €2 (What
do you understand by deficit financing ? How does it assist mobilizing the resources for economic development ?)
ST @ F1 €2 Th e o g w9emd| (What is price line ? Describe through a diagram.)

aaa
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MODEL PAPER

PpETT—XII
MM (GEOGRAPHY)

: 3 8 + 15 fae (arfafam) | [ quifs : 70

Time : 3 Hrs. +15 Minute (Extra)] [Total Marks : 70
g =% (General Instructions) :

® i Wy arfrerd € 1 (All Questions are compulsory)
® o SR % fau ferdl @@ Wt e T @i (There is No negative marking for any wrong answer.)
® T-uF < @Wusl ¥ ¥ | (Questions are in two sections)
=Fo=s (SECTION)- |
s uga (Objective)
Kot 3k (Total Marks) — 28
FHoT I w1 T&AT (Total No. of Questions) — 25
=o=- 1l (SECTION-II)
- 9 (Non-Objective)
Kol 3k (Total Marks) — 42
<Tg STUA 9% (Short Answer type) — 08 (U™ 3 3Ah)
el 30 99 (Long Answer type) — 03 (U@h 6 )
4. oo < STF geE o aridier ooy oft fRu wu ¥ | ey 99 el o Suersy famedi # @ e wh wed
FIWT |
(There are internal options is some of the long answer type questions. In such questions you have to answer
any one of the alternative.)
5. FqTETd et YA 1 ST AT & 9w H T |
(Answer should be in your own language.)
6. e & SN ool Wied R ot e 1 gl WE (Fe Hiersel, US TetE) o W ween afid ¢ |
(No electronic gadgets like calculator, call phone, pager are allowed during exam.)
7. TS U 1 IW T T 3T THo AR Hie H ITYe fashed &l Aicd a1 Fal 91 ¥ T4 0@ W F R |

(ST & faw Afs IW () 7 @ et 1wl 99 9 @ Fafga
(The answer of objective type question is to be given on supplied OMR sheet by completely darking the
appropriate answer option. For exmple if answer is (c) the you should fill it as shown by blue/black pen.

@) (b) (@) (d)

ada
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OMR ANSWER SHEET OMR 3S<I 9A OMR NO.
qi&T 2010
Instructions : TR
All entries should be confined to the area provided. [t wfeftear i3 T T a9 & Eifid @ |

In the OMR Answer Sheet the Question Nos. progress
from top to bottom.

For marking answers, use BLACK/BLUE BALL POINT
PEN ONLY.

Mark your Roll No. Roll Code No. Name of Exam. Centre
in the boxes/space provided in the OMR Answer Sheet.
Fill in your Name, Signature, Subject, Date of Exam, in
the space provided in the OMR Answer Sheet.

Mark your Answer by darkening the CIRCLE completely,
like this.

Correct Method

®O00

Wrong Methods

® @O0
®O0O0

Do not fold or make any stray marks in the OMR Answer
Sheet.

If you do not follow the instructions given above, it may be
difficult to evaluate the Answer Sheet. Any resultant loss
on the above account i.e. not following the instructions
completely shall be of the candidates only.

P w DR

OMR 3T ¥ § W9 & F99: TR G 99 F iR & . B
IW o H/ATe sidl wge 91 g fafed 1 |

T T o TS HIE o, TN = 1 7 OMR S| 7o 4
fafde et/ 9w forg |

. OMR SW w3 # fFiftq T W 91 9, e&aer, fova aden

w1 fErw t gfd 1|

. T IR & R A Y ® 9 9 Y H g Fafgd w

et fefar

P@0®
o] JCO)

®@®0OD

et fafy

6] JCC

7. OMR ST 3 &I 7 HIE 272fa 36 R WEl-qdel foig 7 @ |
8. T e M frdenl =1 e 7 fopw S i fearfad H SR WA @

eIk HE Hicd B | T8 H st &l gfie | forsht +ff g
1 & 1 SRR Haa ahenef g |
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12,

MODEL SET (U4TSO O )-|

SECTION (T@u=s)—I

OBJECTIVE QUESTIONS (a=gffss wzT)
e 1 9 22 q& e § Ry T 9n fadedt & @ T @ SW GE R YOS YA % Wt ITR bl ST ArfeAehl
¥ faf=a =X
From Question No. 1 to 22 there is one correct answer. In each question you have to mark that correct option from the
given options. 22x1=22

20 vt H fava @t SAEE 9Et 2 (In the twentieth century |tselfthe population of the world has increased.)
(A) J T (Twotimes) (B) =W T (Fourtimes) (C) U= T (Fivetimes) (D) 3 T (Ten times)
TR 1 feremerad T st (%) € (Asia's largest slum is)

(A) T@Eel (Fiewr) (Howrah (Kolkata)) (B) hehean (9e) (Kankarbagh (Patna))

(C) ummE (qa%) (Dharavi (Mumbai)) (D) TEsiTR (feel) (Mukherjee Nagar (Delhi))
TYIEA Wi T HEert € (Livestock farming is called )

(A) R@H FHfW (Factory farming) (B) Tk 9 (Truck farming)

(C) Tafwrd +f¥ (Mixed farming) (D) 3 Y (Dairy farming)

frferfed o o M 9 T garEes fwashard € 2 (Which one of the following is a tertiary activity ?)

(A) =¥ (Agriculture) (B)  WERO (Pastoralism) (C) =MMR (Trading) (D) 3@ (Hunting)
‘fo €' Wiz e % gN uRated fewan smar € (The "Big Inch” pipe line transports)

(A) 5/ (Water) (B) 38 (Milk) (C) TR Wifersm T (Liquid Petroleum Gas) (D) Ugifer@™ (Petroleum)

=1 o | % o 9o wEer T& ® 2 (Which one of the following is not a plantation crop ?)

(A) 9 (Rice) (B) 7= (Sugarcane) (©) U™ (Cotton) (D) wI®T (Coffee)

A fashr@ w1 srauren Frefafed & 9 ffg fagm &1 9 € 2 (Which one of the following scholars introduced the
concept of Human Development ?)

(A) <l 31gd wam (Dr. Abul Kalam) (B) W 3 WF (Prof. Amatya Sen)

(C) = Hgga-3a-g (Dr. Mahabub-ul-Hag) (D) <f TS wER (Dr. Rajendra Prasad)

‘Tep! IR wef feEEee’ Weheud feRgshl 2 € 2 (Who introduced the concept "slope and go determined” ?)

(A) T (Ritter) (B) S (Ratgel) (C) W (Taylor) (D) T (Humbolt)
2001 T SFIUMAT % 3TIER, 9Rd § HEFTRE 38T g (According to census 2001, the metropolitan cities in India are)
(A D B > © 4 D) 45

ARt Yetel i fehad Aueel o fasfsia fsan =1 € 2 In how many zones has the Indian Railways system been divided ?)
(A) -9 B -12 © -16 D) -14

YA G 1L A 15 TF & YT & Q HA 2 | I HAW H! &9F § 9@ qon 9 3 ™ =x fawen & 9
fordt wF wel ooy = 9 |
Eaach question from Q. No. 11 to 15 has two Assertion. Read carefully both the Reasoning of each question and select one
correctalternative out four alternatives given in each case.
(A) T HUA TE B qA HeHA-(R), HUT-(A) H TEl =S € |
(Both the Assertion are true and Reasoning (R) is the right explanation of Assertion (A)
(B) =H U WE T U HUA-(R), FLH-(A) FI Fel AEA T ¢ |
(Both the Assertion are true but the Reasoning-(R) is not the right explanation of Assertion (A))
(©) Fo-(A) Tt 2, &g HYT-(R) TTeTd 2 | (Assertion (A) lis true but Reasoning-(R) is false.)
D) =HYA- (R)Hﬁ 2, &g hYT-(A) TTerd 2| (Reasoning-(R) is true but Reasoning-(R) is false.)
FUT (A) . HH TR el 9§ SHEEA 1 8 T 909 S 2 | (Middle Ganga plain has a low density of
population.)
HRO(R) 39 & H HEgH Serarg qrEft St ® | (These areas have monsoon climate.)
FUA (A) ;Wi % Sl % Todies HiHe S syafeerd € | (Cement Industry is located near the source of power.)
FROT(R) : WE: Sed Ul & Sid & ol Senll shi e it € | (Industries are usually located close to the
source of raw materials.)
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13.

14,

15.

16.

17.

18.

19,
20.
21.
22,

23.

24.

25,

FoA (A) : fava d SO T ewft afrenfirer 391 | (Japan is one of the leading industrial country in the world.)

HAO(R) Wl @i HHEHT b1 9l WS ® | (It has a large mineral resource reserve.)

FH (A) . 9Rd H TGH AR W 1 SeAEA HLl € | (Assam grows maximum tea in India.)

HRO(R) ol oS! HeA | wE enfeardl Afteh Sueisy 8 | (A lot of cheep tribal labour is available there.)

FUA (A) ;- TREH S et ST & 10° | 40° S 298791 % Hed aafterd ® | (Areas of dense population in Asia
lie between 10° and 40° north latitudes.)

FHRT (R) Tg &5 U Sorerg % 3faiid dedl ® | (These areas have monsoon climate.)

Wmléﬁ 18 9 % W % TH ¥ e ST WEl B Whd © | TS WA P fog wEl swl A |

Q. No.16 to 18 is might have more than one correct answer. Select the correct answer to each questions.

=1 & @ el ciie-geaa H95 @iy @ 2 (Where are Iron & Steel industries located ?)

(1) TR (Durgapur)  (2) &R (Bokaro) () = (Barauni) @) F=g (Mumbai)

(A) 1TE2(land2) (B) 1TE3(land3) © 3Td4(3and4) (D) 1,3TH4(L 3and4)

frefefea o @ &M o T € 92 W eyafted TR & € 2 (Which of the following towns are not located on the bank

of river Ganga ?)

(1) AT (Agra) (2) YT (Patna) @) e (Delhi) (4) YR (Bhagalpur)

(A) 1Td2(land2) (B) 1Td3(land3) (© 3Td4(3andd) (D) 1,3 4(1,3and4)

71 o ¥ =iF 7 fas & @9 # 2 (Which of the followings are the pillars of Human Development ?)

(1) GHar (Equity) (2) =I98R (Behaviour) (3) 3cdcehdT (Productivity) (4) HeTERITSRIET (Empowerment)

(A) 1Td2(land2) (B) 1Td3(land3) (© 3Td4(3andd) (D) 1,3 4(1,3and4)

e HET (19-22) W Q) wWr XU MY @ wWe—1 i wianedl o wen—ll ¥ Ky Ty faked @ wE-wE gina #i

In the following question (19 to 22) there are two column. You have to match Column-1 to Column-11 correctily.

W (Column)-1 T (Column)-II
we-gema 3 (Iron-steel Industry) (A) HsE (Mumbai)
T o =M (Cotton Textile Industry) B) wrTeYR (Bhagalpur)
Y2I-TERA 3T (Petro-chemical Industry) (C) T (Selam)
o s 3T (Silk Textile Industry) (D) efeHEErE (Ahmadabad)

T TN 23 ¥ 25 % TOHO THR | Y MY a0 F ogA | 1@ qen KA W ye w1 wel S gH—
Q. No. 23 to 25 are comprehensive type. Read carefully the passage and select one correct of given four questions. 3x 2 =6
& e wHfes ® wEifea & ‘A’ fr o 9 fhad et @ 2 (Which one of the following is related to shaded area'A'
in the given map ?)

(A) 9@ =TEd 3R & (Major Rice producing zone)

(B) 7@ ﬁim & (Major Wheat producing zone)

(C) @ 7= 3 & (Major Sugarcane producing zone) (D)
TI@ HUH IRH & (Major Cotton producing zone)

fu MU AHfe | wEifed &9 ‘B’ fA o o frud Hefud 7 2
(Which one of the following is related to shaded area 'B' in the
given map ?)

(A) TeFE} s (Mahanadi Basin) (B) TTRTa s (Godavari Basin)

(C) ™ sf (KrishnaBasin) (D) a1 s (Narmada Basin)

fu MU gHfes | wEifed &9 ‘C’ e o o fRud Hefud 7 2
(Which one of the following is related to shaded area 'C' in the
given map ?)

(A) e (Tamilnadu) (B) Tam (Goa)
(C) =% (Kerala) (D) #Alesh (Karnataka)
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SECTION (@=u=s)-—I11

NON-OBJECTIVE (fi=- p

&g Said 999 (Short Answer Type Questions)

O No gk~ wWwDN

e GET 1 ¥ 8 q% wystid Hife ® 2| ydw wed & fay 3 % fwifa ) 8x3=24
Question No. 1 to 8 carry 3 marks each. These questions are of short answer type.

THa @Re W A IS & YeEl 1 99 L | (Describe the effects of air pollution on human health.)
SI-He YeieA 1 ® 2 (What is watershed management ?)

TaTH o Widens S 31Ukt ekl H 3= TR ity | (Distinguish between push & pull factors of migration.)
IREETEITE Y@ = B ® 2 (What is trans continental railway )

=qed fRamshamdi @1 auie HIfST | (Describe quaternary activities.)

HEhil HTU ¥ a9 21 FHed © 2 (What do you understand by co-operative farming ?)

e fasm™ & =R W@ SUFH % AW faf@u | (Name the four main approaches to human development.)

T R TE I T H R T Hifwe | (Distinguish between birth rate and death rate.)

e swa v (Long Answer Type Questions)

10.

11.

—(SECTION (®=u=)—1 : OBJECTIVE (SRafrs wes)—

e GET 9 ¥ 11 q% el #ife % 21 v weA & fow 6 % frmifa 2 3x6=18
Question No. 9to 11 carry 6 marks each. These questions are of Long answer type.
fova =MIR G & Y@ w1 @1 i & | (Describe the important functions of the world trade organisation.)

Or,
Rd i TRIF af&qadi s T @ gaenes &1 fag=m i | (Discuss the major problems of urban settlements of India.)
A fohTe erehish 01 § 2 38 STHR W <9 k1 Sfieheor forg Feh feman <l & 2 (What is human development index
? How are countries classified on the basis of its ?)

Or,
I=0 Ui SE W W st qify & o o foshfa €1 @ € 2 eAremn wifsw | (Explain why hightech industies
are being attracted to the principal areas of major metropolitan centres ?)
TS &% STINURe Siid ®F 9 8 ? 9RG H $6% G9eet s ==t 6 | (What are non-conventional source of energy

? Discuss its prospects in India.)
Or,

mﬁw,ﬁ@m@éﬁw@mw%%?’wm@aﬁmmmw@wﬁaﬁﬁéwaﬁﬁm

What do you understand by liberalisation, privatisatin and globalisation. Discuss its impacts on industrial development of

India.
ANSWERS (3<41%)

1.(B) 2.(C) 3.(D) 4.(C) 5.(D)

6. (A) 7.(0) 8.(C) 9.(8) 10.(C)
11.(D) 12.(B) 13.(C) 14.(B) 15.(A)
16. (A) 17.(B) 18.(D) 19.(C) 20.(D)
21.(A) 22.(B) 23.(A) 24.(D) 25.(C)
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SECTION (@=u=s)-—I11
NON-OBJECTIVE (Gr a&gias)
e IAUT T (Short Answer Type Questions)

1. el T R o1 FgO T G
IR TEHOT T e, YA, i SR gl S wewen! o o W el % w9 W forn S © S 6gsA ue Sfa-wqet
AT T ehieh ® | WM Te W gHeRl g fefeted €
(i) o1 EuoT ¥ G k1 WETH R0 gest W qgEe ol W Y9 Ser € |
(i) TH9 ®WEl, TA, T o AR IRE=ROT 95 wEted UM e ¢
(iii) T 950 § WY et s et € |
(iv) a7 FEWOT ¥ SHUSH 1 S wd eftor gar S @l # |
2. -G etk ol AIcqd RIqeTd Qo WIH-Sfc] WHIEH] i Tohel ool § 8 | 3 ST=qiia sed gq Stel shi Ushell 3T
fafu= fafeml SE—qrsior uo it ot gR1 i Sot = 3R gHefRor wfier ® | STol-HeR e i S2vd Wifash Saret
ﬁwﬁaﬁawmﬁm%w&ﬁwﬁf%w@%ﬁnmﬁﬁw%
3. Yfqes SR : 7€ o% FRE ¢ TTEH Wil i STo Fed T FEar 1 HRO A & | S—als, Sffaen e
T 1 A9, N FH I, Ao &7 H agd uHHuuaﬂqqlq@wwemaﬂmﬁaﬂ'{flw@ﬁﬁml
SRS HH : T TAoF A 5 A T G G S e e € 1 59 ol R A glaened qen snshfas
% S WA W IRA S YT B E | Sl e, e e A e @ YR WS e # W i A E |
4. FETE % SR-UR A T3 I 1 UK el (e %Ed © | 39 A6 % gR HeRY & T Big ¥ ol SW
BR T ST A E | 37 AW Fmior enfeie o) worifae wwon § fafie faemet § et amn 1 glaE weH w9 @ fag
%ﬂﬁﬂ?ﬂ%ﬁ@ R WS 3o, Htesn Ufafthe Yomm, g Sefer YoM et |
e} TR SEET SR FohTa W SR & v faferdiapa o, SR, e SR geTae e @ s
a@mﬁ@wﬁi@w%wﬁwwm S SR TR A S S
9 HUHRI F1 Th WS AT H 7 9§ Ak A9 FAH & fU Wes1 ¥ Th Fehi S aHe Hi wE g9
W%ﬁﬁmwm%lmmme@@WWﬁwaﬁw%|
7. 14 fasr@ % wR yg@ sy fefafea §
(i) 3™ 3N (i) HAOT IAFH (iii) =IATH 3ERIhdl IUNH (iv) &HA UM |
8?“ : Wi TR =Afaaal | Shfad forgett 1 Sem & St #ed § | 9 SHee H uRed © S gfaed § o
IERIS I
I R : I oo A & 7 el i WS B o R Fed ¢
S R Y G W B TR STEEA T Wpiash gfg R Feren s @
93T (Long Answer Type Questions)
9. fova =MR G w1 e foian (wiesieive) o feom 2 |
fegmar 2006 & TS 149 391 fovd AR GTed & T 9 | WRA favd AR WA % Gegd T5e ¥ Y U ¢
1948 ¥ o fova =1 a1 HHA1 Yook AR fafe=T TR & o a1eneti § gean 3 & fou % 9 & gh 9 Ra Tt 2=
31 3= T 2heh (GATT) i TS a1 T | 1994 § Tt 230 % 5T T2t o <l ekt T 1097 SATIR Bl wgr T W=
FH & T T Tl ween & o o frea fhen e 59 fave SR wred (WTO0) o1 W o e @
forva AR ¥ ® wE—(i) fafa= Tl & wen Afvas Framl S ] S v favaerdt R o & femt w6 fea
% 1 (if) fava & fafe= gee 3o & e Sca gu =i srel &1 Foert ¢ | (iii) R-GoR 3R Sferm Sidt dare den
o= fooal 9 sifiger T TR o =R ol off 3ro el o wiwferd e | (iv) 39 TR & o frafa e Y
STTEYThdl TEed T TRET & &Rl 1 Sire e off GiAferd @ | S7 &l % g fave =R Ged &1 st e fomie gam
S o AR 3R STefeHee % HUSCHIRU & FE § W € |
AT
e ISR & @Sl To AT gieensti & fag e ot @ik o ¢ | 3ud fosmmaeiiar <9 o rfesray wiex sttt
Tol Hig-uTg o1el 81 S @ | STl 1 ol o HROT <N et aieaal Tel SAAfeehd ofkqal o &1 ofd & | WRd o 3Tfeshien fufersm
et § 25 wfw Fraredt sy afcel § w2 | 39 YER WA afe # 9n aeee geend €
(i) snfefer wuead—fava & faemmasiar <o o faeoet arivr Ud o T &= 9§ UsHIR & 9120 STl & R0l SHEE
ww;ﬁ;ﬁéwﬁw%wﬂﬁwmﬁwaﬁaﬁaﬁmﬁq@ﬁ%ﬁwmwmﬁm
e |
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(i) TrforR iR WiERfaw Tued—fasmmsiiel <9 & el fafe=1 YR & qUsdl @ U% © | HH HHEA & RO gt
AR o ATEvaehard o el 8 urdt & ed fnen, e ud SRS Sgdl St ® | W9 ik SHeed ge guE ge
% HR0 TR K e w1 fdn e srgfer @ S @ |

(iii) TateRoT et gt —fammeyie <o § g SEen o 06 foti gen & oo geredl s e #id |
fENfiTer & § WA el 1 ST YA @ o Ygivd @l Sl @ TSTEeRt ge e e ) ved € |

79 YR &1 & ¥ fof T sfel @) ere grend # 8 @ R famn e sfeal 1 3eia @ e S gehdr €

10. A faerd & fafay emEmi w1 A & foaw 9w T fowm wriwa & gu i fafv= dadenl o e foem
gerhish hed € | 58 faw (i) < Sfifaerr (i) 96 SmeR T (i) S99 Sften WX qed gue €

affSia e foehtd TR o SR W 1 i o ol | efiha fehan STl ®

(i) S=9 9Ha fahrd gt ar A9—38 YR o 290 H Ffdeh @h 0.8 ¥ FW €, i 1@ 711 € | 9d fahrg wfiesa
2005 % STER 39 57 291 Wil © | A1 0.963 gehish & @ fowe ® o wM W ¥ |

(i) e Gashish AT 9o 391 Fordeht erehih 0.5 ¥ 0.799 & il € W HeA Gerehich oret <90 ¥ @ T ® | 39
il § et 88 < | HER & orfueniv <91 36 o § wnfiet ® | gHW 29 WRd off 0.602 % W H b F=wia oMM ¥ |

(iii) F1=1 Gusbi o} -9 <91 g T ok goehiss 0.5 9 9 ? | STl 3us st=ia @ e € | fava &%
32 391 ES I AW © | G 291 ATl STehTel SrefEl A  HROT 36 SR W R ® ¥ |

SEE]

oo fepeaneti & S=a WAt S Feiad el 1 SEn € TSem S=1a =i qeh-ieh! Td goiiaie sreqeat e fomfor
TEA TNy el TorehT & W R R Sl @ | S Yl SEh % ot I e, el SeiG fested aen o, e
TSI o TN & SeleRiTeh (Ee01 Uo7 UEEeh SR Suiy Seqe Sen HiHfed 2|

™ YHR & UM W & Uiy & § siwd g1 § g fefafed s e o

(i) TR = HER &% uify & H foga 9f W Uk HiSel HREE Tt S SHE € qen iy o gHe fasan &
fore ot Tomm &1 wiftq & "Rl B 1 (ii) TErPRI % SRl del W 9f %1 ged §gd w9 ©d ¢ Y w0 g ® 9w @6 9
I T o A sedl § | (jii) aed IRy w1 &5 Tew "4 U 9 8 € TSEd el i hREM aeh AH-STH H whioaE Tl
Bt ® 1 (iv) el Her T uRfy W wsfia W waferv ud efa e foe s @ e erfaftem @i a6 wifa e @
(v) Frheadt rerdia & @ ufdafee S-S orel «ill @ o, 99 & oMY W ¥ | G- el 6ol i g ud daR
el & forg aem ot 9 @ S o

11. STIRWTG St Tl B w01 1 Al el 2 | 3 31fereh SRR AT & sesyg siferk foshrss, mifeafaes st
TN & Tl ST FA € | TR TG IR Soll, G S, S T AT Foft, I St T S Tl HewIqo € |
(i) §R Sl —wicEieerss Tl o fouifer g =i foroll i et o aiafda fomen <1 gehar & 759 GRSt & 98 9 S
|

(i) TaT ol —Te 1 TS ol I WeTgA HY weAw W g Fofl § w<e HY AHAT B GaH Fol HEd € | 78 qoi

®9 ¥ YEHO G STl € |
%)[(iii)?ﬁqam‘ﬂ’nmﬁ—mw@@w—mmﬁﬁaﬁw@%ﬁﬁmwﬁwwwﬁnﬁm

T 8 e T

(iv) AT o —geat & e § Freken gam T HH H A9 S % ®9 § qRafdd w5 1 Tkt € | 9Ra § oqardia
Foll Haw feuraet Wy & wulthtor  siferera foRan S e € |

(v) ST el —Sifaes 3R ¥ 9w foh3 ST aTed ol o) S/d Sl hEd © | TRAIersh % e i Sl § age & fog
T feoett & eiEen § T qiEieH Ty s T @ | 9Rd § 39 YR % YR ST Sidl i wHl el ® | 5 qeh 9Rd
A Wt 3R g o1 wEm @ 99 qh STIRRE STl Y eldl W@ | HiFel, Ui, qehfas 19 qen i S oy
Seren $6F % HET B ool Sl B AN W SHIRd € olfehd STOIRNTa Sl TeeR<l A S TR STeia # |

Or,

IR ¢ 3T Toepmg &1 Tk U gfran © e g gresies &5 & T T st &5 o Sgl i =9an W 9a
feo St © 39 SRS e ¢

TrofterToT : TR g oM T3 S o ool & § Tenftd ford STH ot gfshen o1 fsiietor shed ® |

AYAHTOT ;27 HI efaTe H G F refHaRA B WY THIFd FE Hl YHAT F oRETH FE © |

3 whware gr iteifies fomrra A weAra— (i) foeft 4ot ot den frarer foman ST wehen € 1 (i) SRR Widse waE @
S € TSTE <91 o agUed et o ST o gl et € 1 (jii) IR et oy feh s o e yew i 1 Sra ferd
B 1 (iv) ST S W I ot foRan ST HeRdl € 1 (V) THY WER % WE: G 39 o faeRr o ST W g € |

S @

aaa
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10.

MODEL SET (4m=9 937 )-11

SECTION (T@u=s)—I

OBJECTIVE QUESTIONS (a=gffss wzT)
Y99 1 9 22 9% 1 ¥ e U =R fasedt 4 9 Tk @ I U 21 UAF YA B U IO H ST AlfeART
¥ faf=a #1

From Question No. 1 to 22 there is one correct answer. In each question you have to mark that correct option from the

given options. 22x1=22
3T 9t 1 q&F RO ¥ T 2 (What is the main cause behind Acid rain ? )

(A) e gguur (Water Pollution) (B) =g wgwor (Air Pollution)

(C) 9=t ygww (Soil Pollution) (D) =1 ggwur (Noise Pollution)

femeie form w9 # feera & 2 (Digboi is situated in which state ?)

(A) 3= (Orrisa) (B) T57@ (Gujarat)  (C) @199 (Assam) (D) ®werre (Maharashtra)

T W hiA TREHT TG 0T % Sed § Y& w1 T o 2 (Which one of the following project was started for flood
control purpose ?)
(A) = (Kosi) (B) 9@ (Chambal) (C) e (Hirakund) (D) wmerer (Bhakhra)
frefafed wi wRew SEn wt saftafa # guifea & ww@ & 2 (Which one of the following factor does not
influencies the location of industries ? )
(A) emgfd (Water supply) (B) =it =tia (Energy source) (C) =ik (Market) (D) 3eR qf (Fertile land)
‘o’ forg W w1 S fRE © 2 (‘Arjun’ is an improved variety of which crop ?)
(A) T (Wheat) (B) =mea (Rice) (C) 5r=m1 (Maize) (D) 7= (Sugar cane)
19 ¥ A sfiEifies R & ® 2 (Which one of the following is not an industrial town ?)
(A) wmeRR (Jamshedpur)  (B) &=t (Rurkee)  (C) 3R (Durgapur) (D) wem (Salem)
g el it @t & ferw gfag ® 2 (Agriculture famous for citrus fruits is)
(A) uor wfw (Planatation farming) (B) smrert % (Horticulture farming)
(C) sl %fw (Co-operating farming) (D) spwezarTia iy (Mediterremean farming)
I=a gHa fahE %1 gEwie e g © 2 (The index of high human development is )
(A) 13 SR (Above 1) (B) 0.5 @% (Upto 0.5) (C) 0.8 & =1fers (Above 0.8) (D) 1.5 % (Upto 1.5)
2001 #t SFTUFT & STER -9 WA Io9 5 & g 2 W2 2 (Which Indian state rank second in density
according to 2001 census ?)
(A) faer (Bihar) (B) @%@ (Kerala) (C) W sma (W. Bengal) (D) 3| wsw (Uttar Pradesh)
“ e qafeRer T A Tfafafiel & TReafes el 1 st @ gee ogia © 1 g IR fRed Heifud € 2
"Human geography is the study of the mutual relationship between geographical environment and human
(activities." This definition belongs to whom ?)
(A) fex (Ritter) (B) ®fére (Hungtington) (C) =ams1 (Blache) (D) =1fd= (Darwin)
YA WA 11 | 15 G % W H QY HUA B | A HAA w4 @ @ aen e KA T uR fawent 7 @
fordt wF wel ooy =1 97 |
Eaach question from Q. No. 11 to 15 has two Assertion. Read carefully both the Reasoning of each question and select one
correctalternative out four alternatives given in each case.
(A) AT HUA TE B qU HeH-(R), HUT-(A) H TEl @A € |

(Both the Assertion are true and Reasoning (R) is the right explanation of Assertion (A)
(B) T weM W T q¢ HUA-(R), FU-(A) H TEl A TE T |

(Both the Assertion are true but the Reasoning-(R) is not the right explanation of Assertion (A))
(C) wA-(A) Tt 2, T HYT-(R) TTerd 2 1 (Assertion (A) lis true but Reasoning-(R) is false.)
(D) ®UF-(R) &t 2, T hYT-(A) TTerd 2 (Reasoning-(R) is true but Reasoning-(R) is false.)
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
21.
22.

23.

24.

25.

He (Assertion) (A) : fEmq & St oM o % g weRd € 1 (At Singapore, ships stands for fuel re-filling.)

%R0 (Reason) (R) :fmqz we s1idl 7= ® | (Singapore is a entre-port.)

e (Assertion) (A) © WRd & @R W T Hl @0 TE W ¥ 1 (Wheat ranks second in Indian cerreals.)

%R0 (Reason) (R) : wRd ® @it T4l ® 7 &t @t &1 St & 1 (Wheat farming has been practising in every
states of India.)

He (Assertion) (A) : SW-usl wRd | Sowifed %1 fo@ @9 %A g 2 | (In north-eastern India, hydro-
electricityy is least developed.)

%R0 (Reason) (R) : I &7 ﬁ%ﬁ@ gfie @ fmer € 1 (This region is industrially backward.)

e (Assertion) (A) : fasaR (sfesw) o gdt o0 sem @i € 1 (Vijaynagara (Karnataka) cotton textile
industry is situated.)

%Wl (Reason) (R) : oo &= =i TaWAT ¥ el =1 Wit gt € | (Vijaynagara area receives coal from
Singareni.)

FeA (Assertion) (A) : =g U siear ST @ € | (Air pollution is increasing.)

%R0 (Reason) (R) : e+ Al SfisFdEe TH ¥9@ 9g9% € | (Carbon monooxide is a main pollutant.)

I ST 16 W 18 G ® YT b Tk U AP SR Wl B Whd © | TS WA P fo@ wEl Sw A

Q. No. 16 to 18 is might have more than one correct answer. Select the correct answer to each questions.

e I S ® (Mica is found in)

(i) wem (Koderma) (i) =R (Ajmer)

(iiiy TS (Raniganj) (iv) TR (Ratnagiri)

(A) @@ i T ii (only i & i) (B) = i, iii T iv (only i, iii & iv)
(C) =t i, ii T iii (only i, ii & i) (D) F=a i, ii T iv (only i, ii & iv)

T | %F 50 o ¥ 31 STeel sl R € 2 (Which of the following towns have more than 50 lakh population ?)
(i) 2= (Tokyo) (ii) feeett (Delhi) (iii) <stg (Hyderabad) (iv) faetier (Seoul)

(A) e i w i (onlyi & i) (B) o ii i (only ii & iii)

(C) e i T iv (only i & iv) (D) i ii, iii @& iv (i, ii, iii & iv)

v ferameRera # e © (Quinery activity includes)

(i) ffa fraie (Policy makers) (i) iy faviom (Research specialities)
(i) ol eFere (Decision makers) (iv) furares (Teachers)

(A) =aa i (onlyi) (B) e i w i (only i & i)

(C) e i T iii (only i & i) (D) i, ii, iiii @i iv (i, ii, iii & iv)

T WS (199 22) W Q W Ry T R wen-| @t wfafied w w1l § &Ko e famedl 9 wd-wet ghma )

In the following question (19 to 22) there are two column. You have to match Column-1 to Column-I1 correctily.

W (Column)-I T (Column)-lI
g geasta A e (1st five year plant period) (A) 1951-1956
=gyl deadta Aree wTa (4th five year plant period) (B) 1966-1970
B3 deaHia A wre (6th five year plant period) (C) 1969-1974
THel geedta Fr sra (10th five year plant period) (D) 2002-2007

T W& 23 ¥ 25 T TAH YR € | T T Sraaner H e | 1@ e K} ™ v b1 wel Sw OqH—
Q. No. 23 to 25 are comprehensive type. Read carefully the passage and select one correct of given four questions. 3x 2 =6
U 7T wRa & wHtes ® P’ vl @ wefvia W € 2 (In the given
map of India, what is represented by 'P' ?)

(A) TH TR (A mega town)

(B) W& @9 TR (A mining city)

(C) sfrifiss R (A Industrial city)

(D) = wrwe f&t (A private city)

aEfes ® ‘x| @ @ = € 2 (What is shown in the map by
X' ?)

(A) w=rga =& (Brahmaputra river) (B) &sm =&t (Krishna river)
(C) = ==& (Cauveri river) (D) uf@r ==&t (Periyar river)
79 At | L' 9 o wefRfa ® 2 (What is shown by 'L in this map?)
(A) dft=dt yemg 1 &3 (West flowing region)

(B) =@ w= &= (Flood prone region)

(C) eirmifies wewr (Industrial region)

(D) =9 3@eE & (Cotton producing region)
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SECTION (=u=s )11
NON-OBJECTIVE (Gr-agifass)

e IAUT T (Short Answer Type Questions)

© N o g b~ w

e GET 1 ¥ 8 q% wystid Hife #® 2| ydw wed & fay 3 % fwifa ) 8x3=24
Question No. 1 to 8 carry 3 marks each. These questions are of short answer type.
WehTa oh1 HIFeeRToT W 3T @ @Awd € 2 (What do you mean by humanisation of nature ?)

IW IRA I o § A0 9Ra A SEE w1 faaer %8 € 1 =& 2 ("The distribution of population in south India
is sparse than north India."” Why ?)

TR S SR urEier swdt § efaw witsg | (Differentiate between urban and rural settlements.)
ARG FY S IHE gHensti &1 eer@ it | (Mention some major problems of Indian agriculture.)
gig 3R fasm@ & = 3@ witsg | (Differentiate between growth and development.)

k1 faurse =1 & 2 (What is digital divide ?)

qRd & T Semrn @ foeror s | (Describe about national waterways of India.)

qRd § SO el 1 wureret o fafem | (State the possibilities of tidal energy in India.)

st 3T 9T (Long Answer Type Questions)

10.

11.

T WE 9 ¥ 11 T s Bife & Ry ue @ fag 6 3w fwifa 2 3x6=18
Question No. 9to 11 carry 6 marks each. These questions are of Long answer type.
TR Tefereeen | avdiehol & gumEl 1 =i sifse | (Explain the effect of globalisation on Indian economy.)

FAgar (Or) A MR o WS 78X &1 qedl & 3eor@ &g | (Mention the importance of Suez Canal in
internaltional trade.)

Rd | e WrifiTeR! SEm 6t e wifse | (Discuss about information technology industry in India.)
syt (Or) wHa Jia & fawa &= @1 aui sifse | (Explain about the subject matter of human geography.)

IRd | e ST 1 ¢ & Scaed e faawor =1 9viF #ifsw | (Describe about production and distribution of
either iron-ore or wheat.)

JAgar (Or) & & SR W TR 1 R0 Y hifere qenm 3uged 3w o s | (Present a functional
classification of towns with suitable examples.)

Qaaa
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MODEL SET (A4T=a 93T )-111

SECTION (=o=)—|

OBJECTIVE QUESTIONS (a<gfass u=9)

Y9 1 Q@ 22 9% = # Ry e 9r fawedt 4 @ U € I R 2 Y&F W & Ul I ) IR dlfeAen]
¥ faf=a #1

From Question No. 1 to 22 there is one correct answer. In each question you have to mark that correct option from the

given options. 22x1=22
ﬂﬂ‘cﬁ'q i?{ =1 fopem & o farifsa fovam 70 € 2 (Indian Railway has been divided in to zones.)
(B)14 (C)16 (D) 18

@1@3‘ Trﬁ arEm # € wies € (Digboi in Assam in famous for )
(A) T ERHE &% faw (Gold mines) (B) &gen & ferw (Coal fields)
(C) @fs a1 & feu (Oil fields) (D) € & fetw (Diamond mines)
2001 T SFRIVMT & STTER 9RA | U0 SHEE & (According to 2001 census India rural population are :)
A)  T5% B)72% (C)69% (D) 66%

s ® (Manchester is famous for )
(A) It F= 3T & faw (Cotton textile industry) (B) el T =M & fetw (Iron & steel industry)
(C) wrTet =M & et (Paper industry) (D) Tt & =M & e (Woolen industry)
Freferted o M o e 379k 78l @ 2 (Which one of the following is not iror ore ?)
(A) ﬁﬁzsz (Magnetite) (B) ferree (Lignite) (C) 3eTee (Hametite) (D) feATEe (Limonite)

Frefeted o @i s 7o %1 go9 &1 3cEeh 2% wiF & 2 (Which one of the following country is largest producer of
mineral oil ?)
(A) TIF T R (USA) (B) €9 (Russia) (C) W<t 3R (Saudi Arab) (D) ST (Venguela)
Frrefefed o s |1 9e 1 JEad s o 2 (Which one of the following was primary activities of human beings
?)
() 3% ud GheeE (Hunting and gathering)  (B) (Pastoralism) (C)&=H (Mining) (D) TTE (Weaving)
frafafea # forg 3@ & =Fa9 S 96 S 8 2 (Which one of the following country has lowest birth rate?)
(A) BhTH (France) (B)SuM (Japan) (C) S+t (Germany) (D) ¥gad a1 28R (USA)

¥k SEE i € (Maximum population of world are centrelised in)

(A) TIdT w9 H (Mountain region) (B) USRI & H (Platean region)

(©) e WS 7 (Plain region) (D) TEEAET Y3l H (Desert region)

HH YR HFE i % fadl % ®9 H 9 S § 2 (Who is known as the father of modern human geography?)
(A) faem €t o s (Vidal ded la Blache) (B) zferraet gfewmes (Ellsworth Huntington)
(©) Wi Yoo (Friedrich Ratzel) (D) AR 3o Twet (Miss Ellen Semple)

YA G 11 A 15 TF B YO & QA 29 2 | I w6 91 Q@ 9 qen 9 @ ™ =R fawew & 9
fordt wF wel ooy =1 97 |

Eaach question from Q. No. 11 to 15 has two Assertion. Read carefully both the Reasoning of each question and select one
correctalternative out four alternatives given in each case.
(A) T HUA TE B qA HeHA-(R), HUT-(A) H TEl A € |
(Both the Assertion are true and Reasoning (R) is the right explanation of Assertion (A)
(B) =H U WE T U HUA-(R), FLH-(A) FT Fel HAEA T ¢ |
(Both the Assertion are true but the Reasoning-(R) is not the right explanation of Assertion (A))
(C) wA-(A) Tt 2, T HYT-(R) TTerd 2 1 (Assertion (A) lis true but Reasoning-(R) is false.)
(D) ®UF-(R) &t 2, T hYT-(A) TTerd 2 (Reasoning-(R) is true but Reasoning-(R) is false.)
FHeA (Assertion) (A) : dg T YRR & Sfed & fog Afamd & | (Air is most essential for all types of life.)
HNU (Reason) (R) : o1F o USWUl ¥ el iR, THI, shrEed &t sAEr gl @ 1 (Lung cancer, Asthama,

branchits are caused by air pollution.)
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13.

14,

15.

16.

17.

18.

19.

20.
21
22,

23.

FHoA (Assertion) (A) : I T THE 49 ek & 1 (Tea s the most important beverage crop.)

FNU (Reason)  (R) : Geh! SO HHT &= # @l & 1 (It grows in the plain area.)

FUT (Assertion) (A) : TNIEY T T 21 (Paradwip is a port.)

HWUT (Reason) (R) : 9@ WRA @ qiv=m de W feerd € 1 (Itis situated on the western coart of India.)

HUA (Assertion) (A) : HHR W IUered HEA Hifha 31X 3Tqai € | (Resource available in the world are limited and
inadequate.)

AT (Reason)  (R) : TETEH @IS Ueh qeheilehl ehefl 76 WalUTdl @ S WEIEM i Sferq SYai =arai € | (Resource
planning is a technique or skill of proper utilization of resource.)

FHAT (Assertion) (A) : TTEA HEUT KT HEA 2 1 (Rice isatropical crop.)

FRU (Reason)  (R) : <f&ror-yell wfrn =meet 1 H&d Ik & | (South East Asia is major producer of rice.)
YT HET 16 W 18 G ® YT h Th U ATHH SR WEl T Whd © | TS WA P fo@ wEl sw A
Q. No. 16 to 18 is might have more than one correct answer. Select the correct answer to each questions.

TG H feord <1 e 3E 3EM & 99 e | (Name two iron and steel industry situated in Jharkhand.)

() fe=m1 (TISCO) (1) s (11SCO)

() g (Bhilai) (V) =R (Bokaro)

(A 13RIV (Iland V) ® 11 SR (1and 1)
© 13RIV (land V) ©) 131 (land 1)
B H T T (Rhur is related with )

()  geIvg (England) (1) S (Germany)
(II)  RTeT (Coal) (IV) diferm (Petroleum)
(A) 13RI (land ) B 11311 and 1)
© 1SR IV (land IV) () 11 3R IV (I1and IV)
U IEA qTe TG & (Commercial livestock rearing are famous in)

() 9= o (Prairies) (1) 9= F (Pampas)
() TER # (Sahara) (V) = wfern o (Central Asia)
(A) 131 (land ) (B®) 13RI and 1)
© 1SR IV (lland IV) () 11 3R IV (I1and IV)

W W@ (199 22) # J we Xy MU R el # wiafedl o w1 § e T faeed @ wd-wd gfima w1

In the following question (19 to 22) there are two column. You have to match Column-1 to Column-I1 correctily.

W (Column)-I W (Column)-II
sHte S99 (Bernhard Varenium) (A) feren ¥9=H (Shiva Samundram)
%Y HIfeq A1 (Cape-caira railway) (B) U-gHrEe (Anthresite)
HiFe (Coal) (C) %I (Africa)
Fiesh (Karnataka) (D) samnfRaT SFferd (Geographia Generalis)

T W& 23 ¥ 25 T TAH YR € | K T et H e @ @ qen fd ™ v 1 wel Sw -

Q. No. 23 to 25 are comprehensive type. Read carefully the passage and select one correct of given four questions. 3x 2 =6

& e wHfes o wEifea & ‘A’ f o 9 fhad et @ 2 (Which one of the following is related to shaded area'A'
in the given map ?)

(A) 9@ =TEa 3Rk & (Major Rice producing zone)

(B) W@ 7§ I & (Major Wheat producing zone)

(C) vq@ = 3cs® &3 (Major Sugarcane producing zone)

(D) 9@ 91E 3Icdseh & (Major Cotton producing zone)

Geo-(12)
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25,

fEu T AEfe  wEifhd &7 ‘B’ fet § 9 frad wsifua € 2
(Which one of the following is related to shaded area 'B' in the
given map ?)

(A) 7ot afed (Mahanadi Basin)

(B) TTaRt SfF (Godavari Basin)

(C) FwT afds (Krishna Basin)

(D) =1 afE= (Narmada Basin)

fau U wefes o swEifed & 'C' f= ¥ ¥ frww wafud @7
(Which one of the following is related to shaded area 'C' in the
given map ?)

(A) e (Tamilnadu) (B) e (Goa)

(C) &% (Kerala) (D) e (Karnataka)

SECTION (=u=s)-—I11

NON-OBJECTIVE (fAIz-agfrs=)

e IAUT T (Short Answer Type Questions)

© N o OB~ WD

e GET 1 ¥ 8 q% wystid Hife ® 2| ydw wed & fay 3 % fwifa ) 8x3=24
Question No. 1 to 8 carry 3 marks each. These questions are of short answer type.

fova SEEM % faamor IR S 1 guifad & o ®Rehi ol «ard | (Indicates major factors influencing the

distribution and density of population in world.)

T fae il 3 A 39 qaqd o HH-F 2 (What are the three indicates of Human Developed Index ?
wfcaesh ud etenfeass @i st o 3=’ T ¥ | (Distinguish between metallic and non-metallic minerals.)

T TrRefEd temmt R Gfera fewoft fa@ | (Write a short notes on Trans-Siberian Railway.)

IO SR T St o 3fal = L | ( Differentiate between rural and urban settlement.)

IR & S gfaerd o1 =R ereenedi ® i | (Divide the demographic history of India into four stages.)

= S T A SEn e o 2 (Why is sugar industry is a seasoned industry ?)

9 Y01 % YHE TG SFA-%HE € 2 (What are the major source of air pollution ?)

e ITAT T (Long Answer Type Questions)

10.
11

T W& 9 ¥ 11 7% ST &ife ® 2 TdF WA & foau 6 % fawifa R 3x6=18

Question No. 9to 11 carry 6 marks each. These questions are of Long answer type.

TEM T WERETG STafefa 1 gefad s aTel wRekl @t e & | (Discuss the factors influencing the classical
localisation of industries.)

IRA o FHIFe & IARA T faaRor 1 Ieer@ F (Discuss the production and distribution of coal in India.)
qRd o Frafd 3R ST sAR % e w1 =i @ | (Describe tghe composition of export and imports of India.)

aaa
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MODEL SET (49 O )-1V

SECTION (=o=)—|

OBJECTIVE QUESTIONS (a<gfass u=9)

Y 1 Q 22 9% f # Ry e 9r fawedt § @ U € IR R 2 Y&F W & Ul IO ) IR dlfeAen]
¥ faf=a #1

From Question No. 1 to 22 there is one correct answer. In each question you have to mark that correct option from the

given options. 22x1=22
R YT W ferae & o fawifsra fR=n =1 € 2 (In how many zones has the Indian Railways system been divided ?)
(A) 9 (B)12 ()16 (D) 14

s H Hod Teal STy gt o SEn w@ifd fean e &ifeh (The first modern cotton mill was established in Mumbai
because)

(A) T T 7= € (Mumbai is a port)

(B) I8 HUH IURH & & ohe ? (Itis located near cotton growing area)

(C) T wh foiia %= € (Mumbai was the financial centre) (D) S @it (All of the above)

FreAferied & | s |1 Sl 1 SFeRig S @ 2 (Which one of the following is non-renewable source of energy?)
(A) ST (Hydel) (B) TR (Solar) *(C)=&eT (Thermal) (D) 9 (Windpower)
o g o frefated § 9 s @ wEe 7€ S st € 2 (Which one of the following crops is not cultivated under
dryland farming ?)

(A) It (Ragi) (B) et (Groundnut)  (C) SR (Jowar) (D) 1= (Sugarcane)

g & fohe Tog o T SAfen SEE s © 2 (Which one of the following state has the highest density of population
in India ?)

(A) 33 (Kerala) (B) uf¥=t st (West Bengal) (C) e TsF 10T (USA) (D) 3T 9T (Uttar Pradesh)

I G <9 G a1 el e s Wl € 2 (Which country has the highest density of railway network ?)
(A) oISttt (Brazil) (B)®H (Russia)  (C) Wgad TsF oTHfERT (USA) (D) FeT (Canada)

A G <1 IGEN 2o 1 Wad e S W € 2 (Which one of the following type industries produces raw
materials for other industries ?)

(A) e 3@ (Cottage industries) (B) <9 & (Small scale industries)

(C) <fas 3T (Basic industries) (D) ®ees 3@ (Footloose industries)
freferiea & i o arm ®wEe T2 € 2 (Which one of the following is not a plantation crop ?)

(A) HiHt (Coffee) (B) 7T (Sugarcane) (C)ﬁﬁ(Wheat) (D) TR (Rubber)

frefefea o 9 fra Tery o 9o stfuss SWEEn g9fg € 2 (Which one of the following continents has the highest
growth of population ?)

(A) =THIH (Africa) (B) TR (Asia) (C) 3faror 18T (South America) (D) 3Tt 218kt (North America)

freferfad & o S @ JHa it 1 SwEE T € 2 (Which one of the following is not an approach in human geography?)
(A) & fa=rar (Areal differentiation) (B) Wk shifd (Spatial organisation)

(C) ¥enfTe ETeA (Quantative revolution) (D) sT=mo 3R =i (Exploration and description)

YA WA 11 | 15 G % W H q HUA B | A HU w A ¥ @ oaen e KA T uR fawent 7 @
fodlt T W&t faswew &t 94 |

Eaach question from Q. No. 11 to 15 has two Assertion. Read carefully both the Reasoning of each question and select one
correct alternative out four alternatives given in each case.

(A) I weF & € qU HUA-(R), FEUA-(A) HT T A T |
(Both the Assertion are true and Reasoning (R) is the right explanation of Assertion (A)
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12,

13.

14,

15.

16.

17.

(B) T weM Wl € a9 HUA-(R), HUA-(A) HI TEl AR TEl € |

(Both the Assertion are true but the Reasoning-(R) is not the right explanation of Assertion (A))

(C) FU-(A) T T, Teg FF-(R) Terd & | (Assertion (A) I is true but Reasoning-(R) is false.)
(D) ®E-(R) &t 2, L hY-(A) Terd g (Reasoning-(R) is true but Reasoning-(R) is false.)
HeA (Assertion) (A) : WRd & 3t eifeaeh @S TEgde 9ot &5 & € 1 (Most of the metallic minerals in India

occur in the peninsular plateau region.)

FrU (Reason) (R) : M WER, FgH wifeas @fel ¥ @93 § | Old crystallinie rocks rich in metallic minerals.
FeA (Assertion) (A) : R S & =R 9 TG 2 | (There are four major sources of surface water.)
%R0 (Reason) (R) : eRXdei wiel & Sl o fHTd Sl Teh el & @ | (Underground water is one of the major

sources of surface water.)

HeA (Assertion) (A) : ©H % SIS 7§ TR o1 TEU G Nfueh Hewqul @ wEel ® | (Wheat is the second most

important cereal crop in India after rice.)

%R0 (Reason) (R) : WRd favd & el 1€ SeUIGH o1 o9 12 Wi Seqre <@l & | (India produces about 12

percent of total wheat production of world.)

oA (Assertion) (A) : wie-gedrd SERT @S aeTia e § | (Iron, steel industries are a misneral based.)
FWu (Reason) (R) : sifrerat e @t smenfi@ & | (Maximum industries are mineral based.)
FHeA (Assertion) (A) : ST FHIS ST AR deX Jullell W $TEMRd o1 | (The initial form of trade in primitive, societies

was the barter system.)

%R0 (Reason) (R) : ST Yoell § A 319 R & AR 3MIsh! TelmR ki ATE9Tshdl off, o SATueh! Teften st et

off o TeTeR W S I SAETIHRAT Bl SR KA % I I8 TereIa w1 HH T G |
(A barter system if you were a potter and were need of a plumber, you would have to look for a
plumber who would be in need of pots and you could exchange your pots for his plumbing
service.)

T GEA 16 ¥ 18 T % YT % TF § Afu® SR WEl § Thd ¢ | TS W B o we) sw A

Q. No. 16 to 18 is might have more than one correct answer. Select the correct answer to each questions.

I
Il.
M.
(\V4

(A)
©

(A)
©

ShicTehTal T giel < W feerd ® | (Kolkata port is located on the Hugli river.)

€ T ST 1 @Sl @ 128 R € 1 (This port is 128 km from the Bay of Bengal.)

ShicTehTdl I T e T feerd ® 1 (Kolkata port is located on the Ganga river.)

hictehldl a4 1S g faeefaa feham T o | (Kolkata port was developed by the British)

ST HUAl W faer W IR W@l fameu 1 i L |

Consider aboves statement and choose one correct option.

I 11 3RV (1, and IV) (B) aa TH (Onlyl)

| 3R [ g4 (1and Il both) (D) =7 @t (All of the above)

IRd &% T o UfeEs S, fer 6 SW Ry § SHee g A T

Among the northern Indian states, West Bengal, Bihar and Uttar Pradesh have higher population densities.
TG MR & T W A T dfHerrg B SHEE S i ¢ o

Kerala and Tamil Nadu have higher population densities among the peninsular Indian states.

3TEH, TN, Y YR, SRAT, AREve, S I B SHEE e 9 ¢ |

State like Assam, Gujrat, Andhra Pradesh, Haryana, Jharkhand, Orissa have moderate population densities.
IRd % feareia &9 & qddE 159 T SW-Yet T H SEe e % ¢

The hill states of the Himalayan region and North eastern states of India have relatively low population densities.
ST HUAl W foER W IR wEl famed w1 ifra X |

Consider aboves statement and choose one correct option.

shael T (Only 1) (B) 1 S 11 < (1and 1 both)

L1 SR (1, Itand 1) (D) = |t (All of the above)
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19.

20.
21
22,

23.

24.

25,

. |4 e STt Inter-disciplinary T ST R |
Human Geography assumes a highly inter-disciplinary nature.

. I% Y0del W HHEE q7d i SAEd i GHER IR WA O $ 3T Hedr SR § el GaY o 2

It develops close interface with other sister disciplines in social sciences in order to understand and explain human
elements on the surface of earth.
. &9 e ifish sl T e
Human Geography assumes is a branch of physical geography.
N il e AMe e 1 T 39-69 © |
Cultural Geography is sub-fiedl of Human Geography.
SUger el W TR w3k WEl foshe @i @i |
Consider aboves statement and choose one correct option.
(A) o T (Only1l) (®) | 3R 11 <H (1and 1 both)
© 111 @RI (1, land 1) (D) =aa Il (OnlylIl)
Y WE (199 22) ¥ 9 W Ry e @ wen—| &y wiahedl ® wen—11 § e e faeen § wd-wel g W

In the following question (19 to 22) there are two column. You have to match Column-1 to Column-11 correctily.

T (Column)-I & (Column)-11
gRrelt (Dharavi) (A) % =¥ (Andra Pradesh)
feremamgz = gx (Visakapatnam port) (B) HareH ‘Tﬁa (Geography of Resources)
smfefe e (Economic Geography) (C) TR 1 Tad &g T (Asia's largest slum)
Terdiferd w1 21 (Meaning of Megalopolis) (D) W8 (Great City)

T e 23 ¥ 25 T T THR ¢ | Y 7Y Sraaer w oA @ @ oqen KA T ue o1 9el S g —
Q. No. 23 to 25 are comprehensive type. Read carefully the passage and select one correct of given four questions. 3x 2 =6

o ifd @ seiagife eas hell €, AMa sfaer | 794 7, 1995 % H g=wie SISl $i ¥eA 5w ¥ ot
9 off, 2000 % & 400 fufersm &1 7 R w fafers= @ sifersk 2005 H &1 T | 2010 TR SUHFNSH H wEA 2 fafermm
T arferek & STt | fomra 5 auf o SIS % s 95 g, Uga T ST 9 faehmaeiier 9 T SR g € |
37e Srferer SuURIST h1 GEA WY T SR, Sefe, S, WM, | oK 9w H €

The speed at which electronic network has spread is unprecedented in human history. There were less than 50
million internet users in 1995, about 400 million in 2000 AD and over one billion in 2005. The next billion users are to be
added by 2010. In the last five years there has been shift among global users from USA to the developing countries. Now
the majority of the world's users are in USA, UK, Germany, Japan, China and India.

1995 3o H = UMK i GeA fhat ot 2 What are the number of Internet users in 1995 AD ?
(A) 50 fafer@ (50 billion) (B) 50 fafer@ (50 million) (C) 50 &SR (50 thousand) (D) 50 Terei@ (50 billion)
a1oft fova & @ SywEret & €— (Now the majority of the world's internet users are—)

(A) &9, =4, S ) g § (In Russia, China, Korea and Indonesia)

(B) M, AHTEA, TiehEa 3 2 § (In Iran, Afghanistan, Pakistan and Irag.)

©) Hgs T e, foda, s, Sum, =9 3k 9 (In USA, UK, Germany, Japan and India)
(D) emefern, el 3R ¥Sdl ea o (In Australia, Canada and Saudi Arabia)

forma oot & Susdierst | ST S€ed g3 ® (

(A) HIF T H 9 Afaesfad e | (from USA to under develop countries)

(B) Hg TT R 9 fosmrasfiar <=1 7 (from USA to developing countries)

€ Hgx T i 9 fasfaa <9 7 (from USA to developed countries)

(D) fowmsfia e © Hge Ta ™R ¥ (from developing countries to USA)
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24,

25,

w*

Orl (aw) SfE Tt"’.' - .i_(.: fo 84’ 88" a2’ % ]
f&e& T A § ‘A’ ® (Ingiven map 'A' is) g & INDIA )
(A) ¥ e (Suez canal)  (B) T T&X (Panama canal) ¥ic Y *

(C) T Tt 959 (A sea port) (D) 99T TR (Panama city) | L,
In given map 'B' denotes (&3 T2 wHfes & ‘B’ fordl gfira swear € ?) - .z.--f_'
(A) Targ zaE st (Reyadh Airpot) S
(B) R e 3T€El (Jadda Airpot) [
(C) @1=’A Tas 3T€eT (Aden Airpot) Leer
(D) =T B4’ 27€e (Tehran Airpot) :
In given map 'C' is an area of
&3 T AEfes § C foRd T 